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1.  Which of the following is/are correctly_ matched?
T Hard resin - Cocaine
. Oleo resin — Canada balsam
III. * Latex .= Rubber
IV.  Alkaloid - Asafoetida
(A) Ionly o & 11 and I
~ (©)  Ilonly (D) IandIV

&éé;a;aﬁl_suj)gdr ergl/ eremeu eflwimen QuTBSSLDL?

| I. ig 601 Qe - Qarssmrulen
' O IL galwr Gpflen  — SETLIT LITG&LD
L. GerGuésm -  puui
’ IV. syoseomi®m - QumisTwLID
(A Twli@od - (B I wpmyo III
© 1 LDII_@\II.'D - D) TIwopmbd IV
2. Which one of the follovs.ring statement(s) about Blue Green Algae (BGA) is/are not correct? .

(A) They are gram negative'photosynthet:ic cyanobacteria
(B) They have survived for about 3 billion years
(C)  Spirulina is the edible form of BGA

)_ Sargassum belongs to BGA

" Glereu(meuaeuHmieT eTaneu BealiLiFbLNSenwLE STTTSME? '
(A)  Hrmb Apsye gafleCeiamauden BoliLsbLms
B) 3 Y9éodwer yaTHEMTS mn@m@ _ .
" (C) evenumellent o amtay auehBEILIE snipgs Heliuaburs]

(D)  sisrsb foliusbuTs cuamsmuE FTTHSS -

3. The chromonema is a coiled structure, which can be easily separated in case of
s(ﬁ{ﬂ . Paranemic coil (B) Plectonemic coil
(C) Chromonemic coil . (D) Telonemic coil

&CymwralioT reTLg) @b SHET S@LLLTED. Gens araligns RALLE aLg;
(A)  umrreflts &mer (B) GeraCLreflls smer
(©)  ECrmonafltis smer s D) fLa(SsurrasﬂuS]é; F(M@iT
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4. In 1905, Albert Einstein discovered
(A) . Photoélectric effect and Brownian motion
(B) Brownian motion and special theory of relativity
{BQ Special theory of relativity and photoelectric effect
(D)  Photoelectric effect, special theory relativity and Brownian motion®

1905-6) @i getaiy 6ot st (Nl SSemeu
. . Q) gafifan eflaara) wpmib 1NGreraflen §usstd
' B) GQgerafen Gussd wHmb Apliy sriy dardems
C)  Apdy sriy Gareens wHmib gaflllar eflemeney

D) qeflblar ellenara), Apliy ermy Aaratens wHR GG raallar Gusasd ‘ . ‘ |

5. 1. Dynamic lift of aeroplane is based on the principle of Bernoulli's theorem.

2. Glass is less elastic than 'rubber

3. For a system free from external forces, linear momentum of the system remains
constant
Which of the above statement is/are wrong?

&) (@ only y (B) Both (2) and (3)

(©) @only _ (D) Both (1) and (2)

1. eflorend CuGe srpbLcug), Guianrellen CsHDSMS By Il WTES Hsrearr(h 2 areg).

2. samamig e B Aulid semanio @yiiLieoy AL Genpay.
3. Qmaﬂeﬁ‘tm&&@_un_rrg @It BienLol |£11afr Crir 2 bhaibd ep(m wmhledl 2@ L0.

GuwCa -G urddiriisaficy T DHDWF| CTENGU FEUDTETF?

(A) (Yo g B) (2)wpmpw (3) @rar(Hd
©)  (Bwlipw . C D) (1) wpmb (2) GremBLd
6. A rocket 100 m long at rest starts to move with uniform motién of 0.8 C. What is its length - '
" as seen by an observer at rest?
&1 60cm : (B) 80cm

(C) 100 cm D o

HerevgHmaEntung 100 m ferd Qarawr graCsl, 0.8 C Causszmi e Gm@m(ﬁur@ ;_F,]e;ma)u_:rrm
unrepeuwITentt Bigen SarsHanar e1hs Loé,]uums sjeredl (Reumm?

(A) - 60 cm : (B) 80cm
(C) " 100 em = D) 0
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Which of the following has the highest ionizing power?
(A). X-rays «(B’)j Alpha rays
(C) Betarays ' . ‘ (D) Gamma rays

HereumalemeuHmieT eTgl Wse b flsbrer Swehurs@d Sper Garamg)?
&) Xsdiser " (B) =eur sdiser

(C) YlLrsfesar D) asmnorsdiser

Sound waves from a sounding car are )
(A) transverse waves - ) (B{’ longitudinal waves

© ultrasonic waves . (D) stationary waves

@aSile_’r,gués ClamesTiq (HEHEGLD &miledl(Hbg cuBLD &l Bjane .
A) EnsE oD . (B) Qpliea
(C) Qeeflwenrym gell Hemavser ' (D) Heow e -

Consider the following statements.

- Assertion (A) : Receptors for steroid hormones are located inside the cells.

Reason (R) : Because steroid hormones are lipid soluble molecules that diffuse easily

* through the phospholipid interior of cell membrane.
\UXﬂ Both (A) and (R) are true and R 1s the correct explanation of (A)
(B) = Both (A) and (R) are true (R) i1s not a correct explanation of (A)
(C) (A)is true but (R) is false
D) (A)is false but (R) is true

Spsaranid cursHwhisaers seuarsile) Qamdrs.

gapm (A) o evigymii(h) ennirGuorer Qadedlayer ghmé Qararge.

. smpemrd (R) @ evggri® enmriGuomen gm 51511315]@ SDOTWSEIHIGL APOSInNEETTES CETarmLg).

erafifleéd umevGurallLB&@Ger taa Fauailanens HL&as sigwig)
A) A wpmbd (R) #f womid R)greng) (A)ée sfumen eflerdsomgd
B) (A wHmibd (R) sflwirengy opemmay (R)yrensy (A)a&].;b@ sflwren eflerdsioaen
©)  (A) of syanied (R) sfwcver :
D (&) shwdbe seme &) &
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10.

Hormone (Gastrin acts as

] Stimulates HCI production

- (B) _Caulses-contraction of gall bladder

11.

(C)  Water and Salt secretion

(D) Stimulate urine elimination

Caeloig fen @_ﬂ}ﬁﬁ'éLﬁl‘l’@ﬂGﬁT Geuenawinang

#)  HClepugBeu greimheg

B) slmLenw sHEsF Gscg)

(C)  Brwpmibd 2 Lysemer sifsss dalaig

D)  Apbi QueiCGuibpsHmen gren(ais

The transfer RNA (tRNA) carries the activated amino acid at its
(A) 5 OHterminal . By 3'CCA terminal

-. © ' T w Cloop - - (D) Anticodon end

12.

[

@Lwromb =i eer. g (LRNA) spope Blg blGan sblasas @sa alugdileo ahsss

deadlmg? - IR _
() 5 OHyeln © (B) 3CCA gpigedid
(Cy Ty Ceusmarey ) (D) %siﬂiq_@aam_rrﬁ%r gusu’rl‘

1 '

.Neisser in 1879 discovered a sexually transmitted disease known as

(A) Syphillis . (B) AIDS

(@f Gonorrhoea ' : (D) Hydrocele

GS17
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13.  How many printing characters are there in ASCII?
' (A 90 ' (B) 65
94 . (D) 62

ASCII erénggitd QemhEanenaluiler arsgeanen ellGLONaT HESTGLD GT(PHGISEET 2 aTeTen?
(A 90 (B) 65
© 9 - D) 62

b 14, GIS sta_nds for - ‘ .

XY Geographic Information System _ (B) Global Information System
(C) " Graphical Informatiqn System (D) Google Information System
GIS eramugy
(A) | yeils gsaued pementd y (B) @Gamud gaea wpapenLo
(C©) &misd ssaud perpeio (D) sa@er ssau (pemeLo
15. 4 : is the binary equivalent of (12),,. : )
A 0001 0010 tBﬂ 1100
© 1101 (D) 1010
(12),, eremugetr @ yeiTL_tg Lome Sl ‘ GO, | -
{(A) 00010010 . ’ (B) 1100

(¢) 1101 - (D) 1010

16.  The warm current that travels upto Cape Hatteras is known as
(A) Benguella (B) Labrador
(9)7 Gulf stream . (D) Falkland .

Cal @pt’ L _Fe cueniy LILIGRTLD Q&@@J-L'D Qeutiu FCrmiL SHen QUi :
(A) QuiigCeuen BCGrm i ib ’ B) erugumi BCrm L 1b
(C) seuBCrm LD - D) Sursenbg FCyT LD

o} 7 . GS17
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17. 'Match List I and List IT and select the correct answer using the codes given below :
List I | © Listll
(a) Pangaea ' 1. Continental drift
(b) Panthalassa ‘ 2 Large land ma'l‘ss
’ (c) Tethys . ‘ 3. Huge ocean
(d) Wegengr ’ 4. . Small seas

@ ® @ @ R | ' _—

N 4
(A) 3 2 1 4 .
B) 4 2 1 3 '
© .2 3 1 4

5! 2 3 4 1

utigwe I-eren ulgua I-goa QurmsH ulguaseErsEs &Gy o drer Qg;-ﬁ'@ﬁrlﬂlsﬂ@l'ﬁ@'
sflurer eflen " uflenen Qg fley Qewss : ' .

© ungue I v g g 1T
‘ (@) umangdwr . 1. s paie)
(b) usinge-urr&rr 2. 3ifl& iana Bleoliumiy I
(c) Qsssev | 3. Gufﬂ.m &(g),ér,;ﬂmb "
(d.) Gleuglemt - ' 4. APl sL_coser

() (b) © (@

A 3 2 1 4 .
B) 4 2 1 3
© 2 3 1 4
D) 2 3 4 1
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18.

19.

Match List I and List 11 and select the correct answer from the codes given below the list : |

List I . * List II :
(Major-Rivers) (Percentage of Basin Area) -
(a) Ganga 1. 9.8 ‘
(b) Godavari 2. 11.0 a
(¢) Yamuna 3. 9.5
(d) TIndus 4 262

@ b © @

A 3 4 1 2
m 1 3 .2 4
@y 4 3 2 1
oy 2 1 4 3

\

auflens I-2 e auflens I1-gemen Qummadl SCsTRsa U Harar #flurer el uiamer Oafley Qaiis.

eufleng 1 cuflens 11 . ) -

(Qufw é{@@?&%e’ﬁ) : {eupm WrGses urly sgelissdle) _
(2) aheos 1. 9.8 . R
‘(b) Camgmeuf) ‘ 2. 11.0
() wgpener 3. 9.5 . )
() @ps iwe 4 262
N €V (b) (c) (d)
A 3 4 1 2
B 1. 3 2 4
<G 4 3 2 1
® 2. 1 4 3
World’s lea&ing produacer c;f tea 1s
(A) h Kenya ' (B) Brazil

~{(C) China E (PY India

2 0dCatu i85 siemay @g;uﬁlmenemu_;' 2 pugdl deuyd BriH
(A Qsenur ' : B) GCred
(©) -fam ' S (D) @pdur
N . . "9 : GS17
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20. Which of the following vear is-considered as one of the worst drought year in the last one
hundred years of India? _ ' '
(A) 2000 : (BY 2001
@ 2002 (D) 2006

Ghdluireilsr s mim e Baatic e Corswrear aupl & L rs Hmaliuheig ergi? .

(A) 2000 (By 2001
(C) 2002 ) (DY 2006
21. Match the following minel.;al resources with their reserve places :
‘ List I ' List II ° o
(a} . Bauxite ‘ 1. Singhbhum
(b Copper 2. Panna
(¢) Diamond 3. Tiruchirappalli -
- {(d) Gypsum 4. Bilaspur ’

@ ®» © @

Ay 4 2 3 1
(B) 3 4 2 1
(C) 3 1 4 2
@O 4 1 2 3

Gieeu(mid HMg cusnigenar Sieupbler @miy G msGarm® Qummsgs :

Ll g I o Ul II
(a) undenal 1. S b
(b) Qsby 2. udnenn
(c)  epeurDd 3.  dm&ftyrliuere
(d) s 4. -+ YeomawryT
(a) (b) (c) )]
A 4 2 3 1
B) 3 4 2 1
€ 3 1 4 2
Dy 4 1 2 3

GS17 10 ' O



https://applink.adda247.com/d/XhqWf9lSap

Adda

22,

e

GET IT ON
Google Play

Which inscription referred to “Piyadassi” as the second name for Asoka?

A)

Girnar

(2’9 Maski

(B)

.

Bhabiru

Rummindei

“Quingsl” (LSirﬂu_lg,r'rﬁasﬂ) Gregb Grar_d Guwey GsramEE GHUDHD sdCeul () ag?

A)
(©)

Fremmm

el .

(B)
(D)

Consider the following about Vedic literatures :

I
IL

I11L
V.

LITLern

(Bl Gamu

The Brahmanas are the treatises relating to prayer and sacrificial ceremony.

the origin of the world and the mysteries of nature

The Aranyakas are called country books.

"The Upanishads are philosophical texts deahng with topic hke the soul, the absolute,

The author of Ramayana was Vedavyas and that of Mahabharata was Valmiki.

Choose the correct code :

(A4)
%)

G@Jg, e @le&Suniger ug)g‘)] ﬁ]mm@m aamg)@ng) Heuet :

“LIL III and IV

I and IT only

(B)
D)

IT, III and IV only
III and IV only

Gluipensulle |_|iﬂu_1rrg, yéirssr Curenp sgleu

I1, IIT wopmuid IV w0l @i

III wpmb IV wl@Ho

L @Jgg'lurr(a wHmb Ceuatel ser @@gg, @m&&w&m Wgroemhsata saplul_Hererar.
I _ égblsmmrr, @ribw, 2odler GgrHHLD,
egﬁ]mé;asnﬂa;mmés Fnmalg 2 Ul l_g';fé]é‘n'ﬁ‘-ﬂ.
11 prl@ Qesdunisd aens S0 LILI 6L B TERTLISEISET,
. @Unmnmwgmg,.er@ﬁusufr Geug;vaﬁu_lrrerr'r, LETUTTSSenS @wbBlwieur qurcnS4 <DLEUIT.
sflwreneunenn CSg,r'r;ing,@ :
(A) ’I, I, 111 wpmn IV - B)
€ 1wpmbd IT toc Bubd D)

11
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24.

“of

(a)
(b)

() .

(d)

{e)

Select from the codes given below :

(a) (b)

(B)
©

(D)

_@Ouihsailedlmbg eflwre alenemu CambEgHEE6 D :
(d)

GS17

’ ME-ltCh :

" Shutudri

Vipaé
Parushni
Asikni

_Vitasta

3

1

1

o

2 3

4

Qun@g,g}as;

(a)
(b)
(©

@

(e)

(A)
(B)
©)
D)

&@gﬁ
efllumain
LIM(R&ip 6ot

<& Hefl

- cflgeiogm

(a) (b)
3

1 -2
2 3
1

L

: @

o

Beas
Ravi
Sutlej ‘

Jhelum

Chenab

(e)

Glwrey
el
Lo
Beid

Glsemml

(e)
4
5

5

5

12
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26.

27.

25.

The important site of Harappa was excavated by

{A) R.D. Banerjee

W Dayaram Sahini

" (®)

@)

bl

Sir John Marshall
R.5. Sharma

waSusgeud Gubp G orer anylilirena. speurrmiEs QFugeur

(A &g urerigl
(C)  swrymb egrablefl

The 23 Tirthankar of Jainism was
(A) Rishabha

“(C) Mahavira

FLOEmT afLDLL:J‘é}@GhT 23-cug) SrssmisTT

Ay  Megum

’

(C)  wewneSyT

)

(B)

™

(B)

@

Tamil Isai Sangam was established at Madras by

(A SirRK S}ianmugam Chettiar

'(C)  Sir M.A. Muthaiah Chettiar

@/

(D)

Geenenanie s Qerss shissms 2 (HeuTsdweur

(A) . . 0. Cs. agampsd Geligumt

(C) & aib.er. (pgegur Qe

(B)

D).

13

&I R DTTEGHED

<D, 6TE. FTLOM

Parsvanath
Aji‘tanatha \
= '
LITT &6 fr_r;rrg;.r'r
SIRBHIST

Sir Annamalai Chettiar

L.P. Ramanathan Chettiar'

5. SHERTERTMDENED QL L urTt
i3 ’ = .A \ .
eren. . pmomrges Qe g uwmt
i

GS17
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29.

GS17

Which one of the following pair is correctly matched?

(A)
B/
©
(D)

Dynasty

Khilji dynasty
Delhi sultanate
Mughal empire
Tughlugq dynasty

Name

[brahim Lodi
Qutb-udin Aibak
Akbar

Firozshah Tughlug

Qenaumeuansunmer sflwing dunmsglin L Cmmg e7g?

(A)
(B)

© .

(D)

GULhFD

Saved aubsLd -
QLeved Fegmefilu
Qurasmeuls Gugrs:

GI&EGTS GIDFLD

Guwr
@uigahit Gevmg.
GELSem g
SNELIT

HCrragm gisears

Match List I with List I and select the correct answer using the codes given below the lists.

(a)
(b)
(¢}
(d)

(A)
\B)
(©)
)

List I

Kudi Arasu

Revolt
Pagutharivu ,
Modern Rationalist

(a) (b) (©)
3 1 2
4 3 2
2 1 4
1 3 2

3
4

List 1T °

1971
1934
1928
1925

afleng I 2 Lanm euflens I enw Gummsd @ﬂmgg@a;@ & Gssrr@a;a;uun__@@rrm Glgn@unﬂlaﬂ@gbgj
sflwmer aﬂmpuﬂmamg, Lgfey Qewis.

()
(b)
(©)
()

A)
(B)
©
D)

suflems 1
Gl HATF
MNGeuman_
LESshlas

LTl fem Ggaanadleni.

(a) (b) ©
3 1 2
4 3 2
2 1 4
1 3 2

Wb

(d)

-

auflens I1
1971
1934
1928

1925

14
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30. Arrange the followmg Mauryan revenue ofEunaIs in the ascending ordex with the help of the

codes given below :
1. Pradesika =
2. Sdhanika ' . ’ ' .

3. Samharta

4, Rajuka

(A) 4,1,3, 2

(B) 1,3 4, 2

© 3,1,24 ‘ . ;

(DY 2,4,1,3

Querfwiiaafen aumeTisgieD Sifarisman Gmaﬂ@;ﬁé; Epra @HuiBeefler epand Caiey Qails.

1. QrCsélam

2. eugmaflam

3.  seprLm

4. preg O

(A) 4,1,3,2

B) 1,34,2 N
€ 31,24

D 2,4,1,3

31. ’Whlch British commander captured the Poligar of Panchalankurlch1 Virapandya
Kattabomman and hanged him?

(A) Lt. Maclean \Lg)) Méjor' Banermann‘
(C) Col. Agnew (D) Col. Macaulay

aBs 2mECow @rramieus g,muﬁ urr@arfst)mI@g‘)]aéﬂ LTEpeTUEETT e TUTaT W &L @umbwener

ewsuUbdl gnadledlmi?
A) Qmuqemam_ Quwéedler ) (B) Gt urerTGLoe
(C)  araned sisaflyl (D) srame QuéssTGa
O | 15 : GS17
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32. Choose the correct answer

The Ind1an National Auny crossed the Indo Burma Frontier and planted the National
Tricolour Flag on.

\@(S,]- 19tk March 1944 ) (B) 20t April 1944
(C) 7t June 1945 ' (D) 10t July 1945
silwimrest aﬁml_emu_l.(gfg,f@@g,(aa;.

@S Cosflur Grrameud QbHw—uinn eraamauiensns srerg. Hog ppeuter Gamguilaer o bhihu

BITET
(A) 19 wmE 1944 ‘ (B) 20 guige 1944
(C)  7TgSen 1945 ' ' (D) 10 sg9ewe> 1945

33.  Which of the following is correct?

The unhappiness of the Indian Sepoys at Barrackpore, first surfaced in 1824 because.
L The 47th regiment at Barrackpore was ordered to go to Burma

IT. Caste distinctions and segregations within the regiment

ITI. Recruitment 'of Brahmins were discouraged

IV. Introduction of the Enfield Rifle

@)\ 1 @) I (C) I and I (D) TlandIV

EpEhUAL L measeaflc sfurerg erg?

JeNEY:A [T ﬁuunu_umﬂm &EG}SI‘!G}%@GMGU)LD 18241 %em@ ul]eslabrﬂeu psen @pg_;,aS]eu g@surrsmélg)@
STTEITLD.

L ursflen 47-eugy Gfley rrageud ufrmrr.aﬂg')@ dede o gapeil L gl
II. premiel’ fleys@genCGer srdl Lr@uUT{ wHOID g,aﬂammu@gfsgsi)

I Ygowerisear Gaiey Qeiicudld eass fatans

IV.  aanSaLr guunsd Sipdu@ss

@ 1 - (B) 1I (€ IHwpgo Il D) I osgd IV

GS17 - | 6 : o
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34. Who among the following described the Indian princes as helpers and colleagues in the task
of Imperial rule?

(A)_  Lord Mayo (B) Lord R1pon
Lord Hardmge I1 s D) Lord Wavel

& Qarpssiiu L arsefld, @bHw weranser e;rasrré]ug,‘e_ﬂu_: %Lﬁ&@ a_g,mua.lrra;m WHMILD Ggr@lwas
CarpraerT ereamm Fndiweu wri?

() CuCwr Sy . (B) rﬂuuaﬂtﬁluq
(C) @yewrLmb apmig.r Stgy (D) Geueue My
— 35. From the following graph which of the.following years was the ratio of Income to

expenditure the minimum.

70 -
60
501 -
401
30 -
20
104 . .
0 - - - ~ ; : ) .
1995 1996 1997 1998 1999 = 2000

_ Percent profit

A) 1996 ' @ 1995 . _
- (© 1995 . gl on D) 2000 y A o0 IR

Epsam_ aumruL R BHE, GoDbELLE auhamni-OFwdiar cfssme 2 L aumLLD erg)?

o =
o o
1 1

50 1
40 1
30

@eomru &gpéﬁgn.b

- o
© o o
L1

1995 1996 1997 1998 1999 2000

A) 1996 - - @) 1995
(©) 1998 (D) 2000

O ‘ 17 | Y 3
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36. The mean of 5 observation is 25, if one of the observation is excluded the mean becomes 20.
The excluded number is
N 45 : B 40

(@ 20 ' ’ D) 10

5 cramaaflen gl Qagred 25, swubhedlmhs ¢f aeamamen Gédame eupdlar smiHasmaf 20
erailen, BosamLn L eTemr

(A) 45 , (B) 40

© 20 ' . - Dy 10
37  The mean of first five prime numbers is

(A) 5.0 (B) 4.5

©l 56" . | D) 6.5

Q;pg,e-i) 5 LG eratmraset e s (HFsymef .
A 50 s (B) 45
() 5.6 o M) 65

38.  If ‘I’ 1s the standard deviation of the elements «, ﬁ’ ¥ . Then the standard deviation of the
elements @ + 3, f#+ 3, y + 3 is

.| o o, o ® f{a
' ©N 1 : _ B | B !

a, B,y -an gl eflewgasn ‘l -aaflle a + 3, f + 3, y + 3-an S efawdab
(A I+3 : ) B) -3
© 1 o . (D) 3l

v

39. If the arithmetic mean of 7, 5, 13, x and a be 10, then the value of x is

(A) 10 ®jy 16 o o

) 12 . _ - D 15 ‘ ' (
' 7,5,13, x vhmd a ydweuper egref 10 erafled x Qe WAL STETS.

(A) 10 _ ®B) 16 .

€ 12 ' O 15

'GS17 - 18 | S o)
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ool lemTie,
(&) % | ®) _TM
g% i 237&;1[1);—3:-34@52 )
| @ ® =2
© = D) %

41. In 2013, the population of a town is 1,25,000. If it is 1ncreased by 7% in the next year Find
the populatlon in 2014

- (A) 8750 _ @®j7 1,33,750
(© 1,16,250 ] (D) 1,25,000

- 2013-@é, @@ BETsHen wasaQgrens 1,25000. =05 %e;umq,so <5 7% CQu@@LreTme,
2014 G ma;asm@g,rrsm&amu_la; &TEE.

(A) 8750 (B) 1,33,750 -

(©) 1,16,250 ' (D) 1,25,000 .

42.  Salaries of Ravish and Sumita are in the ratio 2:3. If the salary of each is mcreased by
Rs. 4,000, the new ratio becomes 40:57. What is Sumita’s present salary?

(A) Rs. 32,000 (B) Rs. 34,000 -
Y7 Rs. 38,000 (D) Rs. 40,000

refeiy Hmb ssTeden earflw aflfgid 2: 3. geuGeummeunt earwisSad m. 4,000 ofafgsre, Ldu .
sarflu g 40:57 erafler, suligmellen sHCGUTeHW ardluitd wing)? g
(A) e 32,000 . (B) em. 34,000
(C)  em. 38,000 D) 5. 40,000

43.  Which is largest in 28%, 2.8%, % and 0.257

@fl 28% _ © (B) 2.8%
© ‘3‘ R @) 0.25
28%, 2.8%, %, 0.25 - Geuprdled erg Quiflwg? _
(A) .28% . : B) 2.8% <
(© % ' D) 025
O - 19 ' GS17

[Turn over



https://applink.adda247.com/d/XhqWf9lSap

Addal247

GET IT ON
Google Play

44.

A horse and two cows together cost Rs. 680. If a horse cost Rs. 80 more than a cow then the

ratio of cost of horse and cow is

&f) 75 ®B) 57
©. 89 S (D) 9:8

@ GHer wHmID .@Usuﬁn@ wr@saflen Lorgs eflena . 680. e G slmaurag
Wiy e efleaenw AL ¢m. 80 sidsb erafld) GFer wHmb Wi ig.er efleevufier ciflgloneng

A 5 . B) 57

T

- {O) 8:9 ) (D) 9:8

45.

i of L1 of g of a number is 54. Then the number is

@Y 300

(A) 280

. (©) 320 - . D) 350

46.

T 47,

GS17

TV ereimenfan g Lk -g— WY i LbIETEg 54 @b, eralld Sibs erareammeng)

(A) 280 Lo - B) 300

(C) 320 _ (D) 350
9 f
ttA:B=1M8 B.c-B. c¥p-2.3 Lz oEC B i
9 6 12 714 -
(A)  40:28:35:30 © @) 30:40:28:35
(C) 28:30:40:35 © ' (D) 35:30:28:40
1 4 5 7 .. 2 5
A:B==:—, B:C=—-:— D==:— gafl®o A:B:C:D
39’ g 1’ Ci D=7y oo 28
(A)  40:28:35:30 e (B) 30:40:28:35
(C)  28:30:40:35 (D) 35:30:28:40 -

If (3x+2y): (3x—2y)=5:2. Then x:y is
A 52 . . : @) 149
e 914 - - (D) 2:5

’(3x+2y):(3x—2y)=5:2 arafled x:y ans)

&) 52 , ®) 149
© 914 ‘ D) - 2:5

20
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48. A rectangular carpet has an area of 60 sq.m. Its diagonal and longer side together equal
5 times the shorter side. The length of the carpet is
(A) 5m @7 12m
(C) 13m e (D) -14.5m

| @ Qecueus sy eNMIQen LFtiuetey 60 5. cgqg,an Bemoman LGS, (y)mQ)GIS]LL(y)LD @mwg_r)gj
G ugdullar 5 (DL HaTellH@ S0 areled, Heany e Getr Bemd Lurrgj’) :

(A) 518 . B) 1248
(C) 138 _' (D) 1458
i .
' 49, The number of small cubes with edge 10 cm that can be accommodated in a cubical box of
. edge I mis
| (A) 10 ' (B) 100

©n 1000 . ) (D) 10000 :

1 8 vués searey o gdrer &m&g,m Quiye eassoar 10 Q5.8 Uss erajeTer a;svr&gmrma;a)en

Gmeu&&;a)rrw?
A 10 . (B) 100

(C) 1000 ' (D) 10000

50. The diameter of a sphere is 6 cm. It is melted and drawn into a wire of diameter 2 mm. The
length of the wire is

A 12m ' : (B) 18m

&7 36m ' - © (D) 66m

S0 CamarsHlen el L1b 6 Qs.i5. Sigewen 2 méd, 2 188 8l ib Gsram . sbGwrs LDIT:!'_E)@GUHF@,
21555 nGuller Berd wing?

A) 125 e B) 18.8.

© 368 - ) (D) 668

51. A uniform circular path of width 4 m is laid out around a circular park of radius 48 m. Find
the area of the circular path ~
)7 1256 m? (B) 1255 m?
(C) 400 m? - (D) 1254 m?2.
48 8 syonss Qe el L augeuls yhismeder Q@aﬂqu)gﬁl@ 4 8 ssesdd swifyren
QL UILmes SiewssiuEng. Situramsude LU STes.
(A) 1256 &° - (B) -1255&°.
(C) 4008 - _ (D) 1254.8

O : 21 - ' : GS17
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52.

53.

GS17

If B=2, BALL = 27 then BOOK = ?
"(A) 40

©) 42

B =2 wpmi> BALL = 27 arefléo BOOK = ?

(A 40
(C) 42

Find the missing number :

B) 41

0y 43

(B) 41

(D) 43-.-

3 ?
71| 27
‘9 T 114 | g
9 4
A 10 . B 9
0yl 8 (D
eI L eTeRTenemTs &emrs; :
3 ?
Tl1|e27| 5
9 7114 | ¢
9 4
A 10 B 9
() 8 Oy 7
22
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54. Three views of a cube are glven below. What is the letter opposite to A?

MH- , - ® P

Cy B D) M

@@ s SGITHSHEN ppem aﬁ]gmnm Casrppriser £Gip G\&rr@a;aauul_@mmgj erasiey, A—u.‘ﬂe’o'r eIy

L&&SS6) 2 _eTeT 6T esrgj?

4 H o . -®.P

© B Lo D) M
55. If

(1)  Rama scored more than Rani

(2) Rani scored less than Rathna

(3) Rathna scored more than Rama and .

(4) : Ramya scored more than Rama but less tha'n Rathna then who scored the highest?
(A) Rama _ '  (B) . Rani :

(Oﬂ_ Rathna ' _- (D) Ramya

- (1) mom eremLeui renflenw efl endlé wHO@uesr Qubpm.
2) rrenfl eraruGuiT gHemmenau el @enpeuran wHLIG LT QUDDTT.
(3) e eTeLeuiT Lomeney el ifls wdlCuer Quppm.
4 gbwr eréuei gorames 9L Sifswrsad FEamTea 6’3:9]1_. G@paurseyld wHltiGuer uppri
erarfien, @@ s wHUQuET aurhidwieuT wri?
&) por : : (B)  yrenfl
© rgem - @) powr

o) - 23 GS17
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56. [f8—-5x4=44and 153-3x3=48then 16 -4x5="7

Ay O
(Cy 20

@ 69

(D) 25

8-5x4=44 vpmb 15 -3 x 3 =48 erafler 16 -4 x5="7

A 0
) 20

57. Find the next diagram :

(B) 69
Dy 25

© oo 1 | EP : 7
o} o
@ |, ®) o
(o) ° D) )
B e
2088 L_sHamen samHLdyg ;-
i oo 1 r_—lj :?
o o]
(A) o (B) o
© | o o | ..
[+]

GS17 -
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‘Which is the strongest acid? . .
(&) HCOOH * (B) CH,COOH
(C) C,H,COOH _ (D) C,H,CO0H

Sipdaam_auhde eINLdGHs SISl erg?

(A) HCOOH | (B) CH,COOH
(Cy C,H,COO0H E D) C,H,CO0H

For a cell reaction

A(S) + 2B == A +2B

the equilibrium constant is found to be 10'?. Then the E:,
&f 0354V (B) 0.708V
(G 0.029V (D) 0177V
E\pasenr Blensen eflenallen \

A@S) + 2B* = A +2B

sofleney wrdled 10 arafle, igesr By wdlly erewen?

(A) .0.354V (B) 0.708V

() 0.0295V ' _ @) 0.177V

; value is

The specific conductance of a 0.01 M solution of KCI is 1.4 x 103 ohm-! cm-! at 298 K. Tts

equivalent conductance is (ohm-! cmZequt-1).
(A) 0.14 ‘ (B) 1.40-
©), 14.0 @&y 140

0.01 M KCl sengaeden Bluin s_sgisdmen 298 K-ulea 1. 4 x 10-3 @u} 'Qab arafler, Gasmyeden -

gorer sL_ggisSmen wgliy (ohm! em?equt?)
A 014 B) 140
(€) 140 D) 140

The compound is used as rocket propellant

(Aﬁ Hydrazine (B) Nitric acid
(C) Ammonia (D) Nitrogen

- rsQal. erfQummer uweur g Heg 2 uCuIndlgalin®n Qurmer
A) - eaptgedlér . - (B)  epiflé snfeoid
(C)  =Guoraflur - ' ' (D) eoplrgen

25
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62. The main thruslt of the Industrial Policy Statement 1977 was to
(A) Promote large scale industries
-+ {B¥- Develop basic industries
y fC()’ Encourage small scale ana cottage industries

(D)  Encourage agricultul_'e-and allied activities

| 1977-cyib ey Gpdu Asndie Gardrmauia srGimeds Qs oo
| (Ay  Curyemey Qgmle Fipeuamismer GLbURSSI6S)

(B)  @iglue Gsmflasmsear qpeiCarbmeug;

©)  Adlu wdpb Gumes Gomflasmen émé;@mﬁ]uu@

(D) Geuanment HmiD MBS HL6Llg HNSHSHENET 21560 1118,

63. Government of India introduced the/Sarva Shiksha Abhiyan (SSA) in the year
' (A)  2001-02 : ~ (B) 2002-03
{0y 2003-04 (D) 2004-05

SDlaaaiHEGD soel (sien Heagm sndwreanr-SSA) eremm S Lses @jﬁ;ﬂlﬂﬁ@ﬂ@ Sifigpan Gelg

2@
(A)  2001-02 , (B) 2002-03
(©)  2003-04 D) 2004-05

64.  TFill in the blanks

- - India has been recognised as the I country in the world to officially adopt-
Family Planning Programme in .
(A)  First, 1950 (B) Second, 1952
(0]  First, 1952 . (D) Second, 1951 )
sradludlisenar BliyiLs.
s@s  prHselld GQiHur ————— EEE  pogdllidws ———— e
Beni_(penmULRSSwg. ' - . '
(A) I@pg,@rrmg,rr&;, 1950 - (B)  @yem_reugmes, 1952
(Cy @psanausgns, 1952 (D) @raw_reugrs, 1951

GS17 : 26 o . 0
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65.

66.

Consider the following statements. . o
Assertion (A) : Soﬂ erosion 18 essentially a man-made phenomenon

Reason (R) : Soil erosion is caused due to deforestation, overgrazing, shifting
cultivation and improperly constructed terrace outlets.

@(9 Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(B) DBoth (A) and (R) are individually true but (R) is not a conect explanation of (A)
(C)  (A)is true but (R) is false

(D) {A) is false but (R) is true

Epsananb cunsdlukismer sauasdd Qamars.

spm (A) : went Hfluurerg weflgerme :D_(_rD@Jrra;a;uu@Lo Sjeudlwuwrer Rl _ss565
. ,I-—F)]g’@@'l . L -
smypemro (R) - . wewr yfllureng srofldsw, oifs samelenar sropan. Gowdse,

T BRLGQuuire;  Geuenmeiments  pMId  @p@DWTS  SULULILTG  Sligl
Slepiotisefen e arar B QeuellGuippibd.

A A wpgb (R) @rﬂm‘r@(ﬁm g, Gugib (R) eremug (A) aﬁ]g)@ aflwimesr Gﬁlerra;a;u:
(B) (A) wpnb (R) @U@m@m aifl, GLD@_]LD (R) eramrigy (A) el acrﬂu_lrrso'r eSlerds1neden
(C) (A) &7 gpemmed (R) geum :

(D) (A) geum pened (R) afl -

The Insurance Regulatory and Development Authority (IRDA) Act was passed in the year

(A) 1986 . . (B) 1991

©n 1999 (D) 2005

&rUSE panULHSSISD WHMmILD euariés .:gg{,msmm (IRDA) s Lib @mmg@uupg ccgi,sw(ﬁ
(A) 1986 (B) 1991.

© 1999 . (D) 2005

RBI launched the Market Stabilisation Scheme (MSS) in 2004

(A) for the sale and purchasé of Indian Currency ' i
BY! asan additional channel to'l mop up liquidity

{(C)  to fix the rate of interest at the lower level

(D) tocontrol the general price level

2004~ ngsmg;mu_n Elerouhsgib g L_sdlener Qi rﬂ&rrsu cuEid) @@Jf&}eﬂugﬂ
A ‘@gg,m BITETWSEng U6, edhuenar dadicush@id
(B) phrenng senenufiene sMGFIaIHNHETT G5 1L ULITET DOTL_HDME
©) euly cizsms @G;ﬁ)ﬂ)‘l'_i’)g; Hlanevuled Sromedl LILgHETE
(D)  Qung eflenar Hlanaullenen & HULESHIUSHETSE )
27 . GS17
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68. The Expert Group to review the methodology for the estimation of poverty in India in the
vear 2009 was headed by
(A V.M. Dandekar (B) L.R.Jain
() Martin Ravillion @) S.D. Tendulkar

2008-1b yemgan @pfureler gy LHIEEH dalyb drflpampamu opliey elwubd G
Gleurg) gevaanouile Siepohsg ’

(A)  &enh. LrenCGLai (B)  eréb.=ym. Clagullen

(C)  mwingem reumsdlwiesm (D) ere.ig. QLamBievaT
69. Expenditure tax in India was introduced by

()  T.T. Krishnamachari (B) C. Rajagopalachari

(C) Yashwant Sinha | (DY R. Venkatraman

@g_ﬁgﬁ]mn@ﬂ@v Qaaway cufl @augmed iflpaid Aeiiuisc g

(A)  g.1q. Hmeyemorgsrf - B) 4 @urinGarurersgril
(C) wegeups Henapm (D) <yt Qeukislyroesm
70. Consider the following statement :
Assertion (A) According to the New Economic Policy Globalisation is considered as

an instrument of growth.
Reason (R) o Globalisation increases the cost of trénsport and communication.

Which 1s the correct answer?

)] (A) is correct but (R) is wrong

(By (A) is wrong but (R) is correct

(C)  Both (A) and (R) are wrong )

(D)  (A) and (R) are correct and (R) is not the correct explanation of (A)

’

Epssein_ cunddluibisener souaf :

spm (A) - bl Gummenranrs Carerensi iy 2 SIS eUeTTEF&ET6 (1 SHetlLTES ,
SHSILOEDS.
grenTd (R): g_euaamu;zmrrg,eb Cund@eurdg wHmb  dgrene  Gam ryssren  Lawenas
' - =glaflading. —
@eupmier sflwirer eSleni— et ?

A) W) sflurang yenmed (R) geumnengmgh

(B) (A sawpreng) semman (R) FRlUTESTED

(©) A wombd (R) @rae(Hind seuprenana

D) A wpmd (R) Grar (i sflwureraneu opmits (R)- (A)sanen sfluimet efleardaid s

GS17 ' .28 O
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71.

The special Economiec Zones Act was enacted in Feb. 2006. Identify which is not the
objective of the SEZ?

@)
)
©
(D)

Generation of additional economic activity
Promotion of import
Creation of employment opportunities

Development of infrastructure facilities

@dageufl 20064b pam® Aplyl ur@mertgny wer_ob Golss L1 Quidmiu’Lg. GeubBler
GOIECSTET TEIEUCDE GTERLINS DHePI_WITETLD &Teidr.

(A)
(B)
(o)
(D)

Fo(HBOTET HLIMMETTETT HL6UL SEHSMET £_(THe &S eUS)
@nsgodau easEelng
Cauena aumbLienty 2 (HouTéHEGeug)

& (MDTen eUFSEEneT 2 (HEUTES @6 S

Consider the Statement and Reason, choose the correct answer from the codes given below.

Assertion (A} : The Ratnakar Bank is referred to as NH4 Bank in the banking circles.

Reason (R) : Majority of the business of the Bank comes from cities in and around NH4,

)
®)
©
(D)

which connects 10 popular cities.
Both (A) and (R) are correct. {R} is the correct explanation of (A)

" (A) is true (R) is false

(A) 1s true, (R) is not the correct explanation of (A)
Both (A) and (R) are false

ECGp Can@ssiul_fGerer smbgimelle, g, dassims pledsig, Qar@aslul_Redrer
@GPl SGaaNambe eflurar el amw Csiey Q.

smsaE (A) cuidl eulLmygHled ‘THeET eumdlenus ‘Brenamd GBHEEETN®

auild erarr ienLpsflanpenit',

grgawrid (R): @euaumdulilar QuEburerear aufsssd, @HEEE EEFTamudd

(A)
(B)
©
(D)

2 arar, wasaTgTans WEHs 10 parmsafe CuplardreriuGdng.
(A) wpmo (R) Qe &, (A) eflan sfluner eflengsid (R) <p@b
(4) st (R) seumy

. (A) &l gpammed (A)-a9p@ (R) sflwren sfenssid <idoe

(A) vom (R) @rerhGo seumy

29 ‘ GS17
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Which of the following is not a method of soil conservation?
(A) afforestation ‘ (B) . increasing the size of particles

(C)  slowing down of the water movement (Bﬂ applying fertilizers reéulérly

Semeu heuaneu Hbld e urr@a;rrés@fo‘ (LPENID B(EIEV 6TE?
(A)  st(hsener UETTSS6E '

(B) e glaengeatien Haellenar o SHalilHsg s
(©) @i Bl Caussas Gamnsse

(D)  Qsm_réfluns 2 jhisaner @ G

The enzyme discovered by CSIR to increase shelf life of fruits and vegetables is
(A)  kinase super oxidase ' (B ethyl gluconase
(C)  phenyl aldolase’ (D’p super oxide dismutase

* salEeT DD Ml euensGatien LFg g,ahlsmmemm Blg && &.eTeh g9 oy Flmieusnssre serLfluiul L

GS17

FEpd
(A)  esCarsv GUUT psallGLaV (B) edlé gEerCarCaren -
< Sevanéd @G nGesv D) @luul ga@men( evbuyG e
Who is the 40 Chief Justice of India? . ,
(Af\  Justice Sathasivam (B) Justice Altamas Kabir
(C)  Justice Markandey Katju (D) dJustice Lodha

)

@ndwreler Brougreg) o Febdlwem samaeno HALS wri?

(A BHwysi ggndleud B) BHugsr s bmen ST
(9] ﬁﬁu_lrj&r'r- risen(ul &lsn® (D) Bdwrer Cangr

Which of the following countries in late 2013 gave approval to commercial release of
Bt-Brinjal? '

M Bangladesh (B) Mexico
(C) France . . (D) Sweden .

Spsaar pripsailey erbs B 201-3%1__0 spa@maan 19puGHde Bt--ssHNesmulen el wirLmy
fShwimer Qeuafluil o H@ eUuSe aupmidluig?

(A)  auisrer Gestd ' (B)  QuicdCan

€y  Slgmenen _ D)  evelien
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77.

78.

79.

80.

GET IT ON
Google Play

How many times has Rafeal Nadal of Spain Won the French Open Tenms tournament to

break the record?
(A) 7 uimes (B)
(@F] 9 times (D)

8 times

10 times

sv@uulilen sl (B gmild prie Gyegs gluer Wi anefian eflenemum G Curliquiled erdganear (wpenp

Ueuenmy sngenemenid (pHIwlqSHIT?
@ 7p@p | (®)
€ gpep (D)

8 wpenm
10 @penm

Who among the following have won the National M.S. Subbulakshmi Award 20147

{A@ Mathangi Sathyamurthy . {(B)
(C) Sai Kumar : . (D)

KPAC Lalitha
Sujatha

EpaenT_euirs@Erer Wit Gaflur enid.ere. sliyeeanl 2014 afl(mg) Qeuempmi?

(A)  wrgdl ssdwaprsd (B)
(C) - eml g (D)

KPAC avellgm
SEQGT

Name the scientist/organisation who successfully converted plastic shopping bag into diesel,

natural gas and other useful Petroleum products
(A) Ahmed Khan (B)
@9 Birendra Kumar Sharma (D)

Prof. Angela Vincent

Bose Institute

cuaniia Gamevyé ausmer L, @uihams eury oD W vweaysrer QU Grradlul gL EAun@mes
Qaupilsrors wrpBlw edesesrafl/ figeuasdear AuLT Hme

(A) =85 sren B)
(C)  9Cypdly @omi sfom (D)

Who received Dada Saheb Phalke Award 2013?
(.KS] Sampooran Singh Kalra (B)
(C)  Pran Sikand (D)

g sradit) urdGs aflmg 2013 Quipp U wTT?
(A)  sbypen Ak sarm (B)
(©)  vyen Asn D)

31

Cur. erigreerm eflerGiaem_

Gume Blmieuermd

Vijay Seshadri

Ramesh Agarwal

el Gegsravdif
PGS D& TeUTD
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81. . Match the following : o o

Paintings ' States g
(a) Kalam Kari 1.  Andhra Pradesh
(by Madhu bani 2.  Bihar
. (¢y Phad 3.  Rajasthan
(@) Warli 4.  Maharashtra
(a) (b) (c) (d)
A) 1 .3 2 4
@] 1 2 3 4
(Cy 1 2 4 3
Dy 2 1 4 3
Qunpsgs : . . o - £
leﬂgﬁm&a;eh , DTBleEISHeET ‘
(8) sambmmfl 1. <y bE lS]l;rCSg,ELb _ !
(b) - wg Lrefl 2. F s '
(©) uwl 3. JsQe EIen
(d) eumiedl 4. LOGTIT T 6l [T
(a) (b) @ (D
A 1 3 2 4
® 1 2 3 4
© 1 P 4 = '
Dy 2 1 4 3
82. Which is incorrect pair? . .
(A) ' Saurav Ghosal — Squash | - 685 ) Malavath Purna — Archery y
(C) Heena Sidhu - Shooting . (D) Chhanda Gayen — Mountaineer
seuprer @anemaniis CETHEs®H : -
(A) . seuTel Garge — e e e (I3 mrrsorraj.rrg Lymemorry — aﬁle‘n 1A THTHIT: T3
(C)y  ablenr gy — ylunad s(H S0 (D)  snsT Cabwen — wanaGumse
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83.  Arrange the peaks of Trans-Himalaya region in descending order :
Kz — Hidden — Rakaposhi — Haramosh
(B) Hidden — Rakaposhi — Kz— Haramosh
(C) K:z2— Rakaposhi — Hidden — Haramosh
(D) Ka2— Hidden — Haramosh — Rakaposhi

g preen @rewssa 2 drar Herhismer Gnhli@Gaufamsuie euflens LS8 :
(A Ko~ afl en~ prsGurd - apmiGuomeis

(B) aflién— graCurdl — Ko — anriGlomesy

(C) Kz—graCurd - afl_eim — apmirGLomes

D) Ko-ablien— gmr‘r@m:fsiq, - greGurd

84." Of the following who is not related to “Chipko Movement "?
(A)  Sunderlal Bahuguna By} M.S. Swaminathan
(C) Chandi Prasad Bhatt (D) Gaura Devi

Aeneumuemer “ALGET Gussn” Blge L an Qgsm_midamgseur uini?
(A)  spsieTD LGEGTT (B) _erib.areh, seumillprg e
(C)  epd Gpers um’ : ’ D) seyypr Caell

85. Sumitra Mahajéri is associated with the post of as on June 2014
- (A) - Lok Sabha Deputy Speaker . (B) Rajya Sabha Speaker
Lok Sabha Speaker . (D) Minister of External affairs

g 2014 plovasriivig &85TT wargen @psts Lgallieamar audlds aubgm
(A) Gord gur genent FURBTLIGT (B)  grRw suT FLIABIWST
(C) * Gard sum sLNBHILST D) Oeefluypes s Sienwési

86.  Which one of the following is NOT a National Symbol?
(A)  Mango Fruit - . (B) Dolphin
(C) Lotus ' (" Coconut Tree

&Qé;a;sﬁﬁrl_supjgjd'r argl Cadlw é]ﬁkreu}Lb @@@@?

(A)  wmbupd (B) LménSen
(C)  gribeny . K . (D) Ggenenan b
87.  The Silent Valley National Park is located at which district of Kerala? ;
(A) Idukki ) . (B! Palakkad - e

(C) Kottayam . (D) Wayanad

Garermelled eThg wreu L S8ld Sienwdll LeTerggnde CaAWL ks amm@gmm@j? '

A omsd B) uressr@® -
(C) CasmliLwb i o D) awsr®

o . : _ 33 GS17
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88.  Arrange in descending order of 2011 Child Sex Ratio in India.
'(4’(9 - Chattisgarh — Kerala — Asom — West Bengal
(B)  West Bengal — Asom — Kerala — Chattisgarh
" ()  Chattisgarh — Asom — Kerala — West Bengal
D) - West Bengal — Asom — Chattisgarh — Kerala -

' @5§1mnaﬂm 2011  sar&@sHiGer Lig @‘gp;‘gmg,aaﬁﬂeb Lineflen aldlpgens @nmiGalfmaudd
Sii L auenanT IO B EE)s. ' )
(A)  ssdevam - Cayent — HCaFTD — CoHE eumisTaTD
B)  Guye aurksreard — GsTD — Carerr — sddlevat
(C)  ssflevai — Camb — Cagerm — Gome GurIBTETD

(D) Cuing UGB TETLD — 2yCaTD - ggdievat — Caremm

89. Match the following and choose the correct answer :
Books ' . Aﬁthors
(a) Gold Finch
(b)- '3 sections ,
(c)  Anticipating India
(d) Capital Wars

Daniel Pinto
Vijay Seshadri
Shekar Gupta -
Donna Tartt

o A o

: (a) (b) (c) (d)

Ay 1 . 2 3 4
B 1 3 4 2
@/ 4 2 3 1
Dy 1 2 4 3
Sipsser_cubhan Gurmss), sflurar eflenL_ulaneans Cairay Glauis
Lbssmiser : ) 2pSlfluiser.
(2) Caréde Geng 1. CLaflwd SenGur
(b) 3 Qasagewen 2. g Cageraudiil
(e} el ANGuligm @bHur 3. Gosi @ug,rr
! (d)  Gasb e euriiew ' 4. GuLrememm Ll
(@ . (b g (@
Ay 1 2 3 4
B 1 3 4 -2
) 4 2 3 - 1
o) 1 2 4 3
GS17 _ . 34 - . 0O
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Consider the following statementis :

1.
pd
3.

There are 25 High Courts in India

GET IT ON
Google Play

Punjab, Har vana and the Union Territory of C‘handlgaxh haye a common H1gh Court

Natmn.al Capital Territory of Delhi has a High Court of its own

Which of the statements given above is/are correct?

)

(©)

Epsam_ appseer smsHd Gardreralb.

1.
2.
3-..

Cupsarr_ecumiley ereneu Fflwimang;?

(&)
(C)

Considering the following statements about the Attorney-General of India.

1.
2

/P

3.
4.

Which of these statements are correct?

()
(©)

@pHws sl Lsgienn gyl upHlw sheop smSdle Gaeerayb.

1.
T2
3.
4.

@leupdled #flwimen sabms 6187

(A
©

2 and 3
1, 2 and 3

f

(By 1and?2

(D) 3only

Gpsurefld 25 &mnﬁﬁ]mmmr&:&;m 2_aiTerre.

LERELL, ,@_n)rﬂu_lrmmrr WHID FeHTgETT pHenel GlLimgieume amnﬁﬁmmmgmg Gla;rrmr@eﬁmm

Caflu smapaT QL6 sarstbser g 2 wTEHlnamsang Gararr(hereg)

2 Hmb 37
1, 2 wpgid 3

T

B) 1wpmib 2
(D) 3w En

He is appc;inted by the President of India .

He must have the same qualifications as are required for a judge of the Supreme

Court

He must be a member of either house of parliament

He can be removed by impeachment by parliament

land 2 .
2,3 and 4

-

(BY .1and 3
(D) 3and4

@pdu @ururss seaaurted HlulllssuuGRprT

o sabflneny BHLDHEES Camaiuen sEHow Aupn Gmés Caam(ib

UmyrghLosm&den Bl éiGﬁ)&JBSETﬂGi) FGgayid @éﬁrjﬂd} 2 muslenmre @ mes Geustn(HiLb

GonEFFT_(HseT Qg)eum urrr;rr@wemmg,g,nm ug,afﬂ Baab Qe (pigud

1 oHmib 2
2, 3 whmb 4

35

B) 1 whHmb3
(D) 3 wHmb 4
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92. The Parliament consists of
€A) - Lok Sabha and Rajya Sabha -~ .
| QBJ/} The PreSLdent Lok Sabha and Rajya Sabha
(C) Lok Sabha, Council of Ministers and Rajya Sabha
(D) Lok Sabha, Rajya Sabha and Vice-President
LT THERLOEMID GTEmLg)
(A)  &psenis HmID Gdsan
B) geardud, Epsmu wHmb Codeamu
(©) SipsanLs, U SenFFyena opmid GosanL
(D) &pesanu, Guodsmu wpmib gienem genrdug
93. Who is the real executive in a state?
(A) Governor
(B)  The Speaker
3 ~ The Chief Minister .
QD)/] The Chief Minister and the Council of Ministers
0 Lorrpﬂcug,ﬁlsm o GRTEnLOW e c%s_é]ggueﬁ)[_r) cﬂqgﬂ&mﬂ uI?
A s C
B) surprwear
(©)  swawsst
(D) (pF@DEFHLD BeUHELIL SENOEFSFTEHEILLD
94. Comp’troller 'and Auditor General 1s a;;pointed by the
(] President
(B)  Vice-President °
(C) RajyaSabha
(D) Lok Sabha
. HEEEDE aseauré;@g sestldanawimarany BluOiug)
(A).  Gywrss semeeu
(B) gswems GuwnES Seneeuir
(C)  orgw s
(DY CGerssur
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95. ' Consider the following statements with reference to India.

1. The Chief Election Commissioner and other Election Commissioners enjoy equal
power but receive unequal salaries

2. The Chief Election Commissioner is entitled to the same salary as is provided to a
judge of the Supreme Court

3. The Chief Election Commissioner shall not be removed from his ofﬁce_éxcept in like
manner and on like grounds as a judge of the Supreme Court , .

4. The term of the Election Commissioner is five years from the date he assumes his
office or till the day he attains the age of 62 years whichever is earlier

' Which of these statements are correct? _ . . - -
| (). land?2 f 2ands3
(C) 1and 4 (D) 2and4

&G e drer amnmisafied GBSl Caisen égbm.em LpH s,

1. . gwaew Csisd maruit wHmb 9D Caisd ymamuiTsd sowrear HFHSTTD o enLwauiTEeT
QLETE FLOHM FhLETD CunSprisen - ’

b

sawaaw Gaigwn ymamuit 2 szffloaniden fFudsaien Geaearuirar sibuemb Gupdlpmi

3. esspduangder FHufamen Guiré s GCsrge c%s‘nmu_xmu ugell Basn Gauiw

ol el . - ' . -

4. soeown Gaighd pwanit 5 aandsense HuBésiuESpni. Cogib o 62 s
aUQurgps RrbuyfnCGsr GQrarmy d erg apanensns aumEDGaT Siger Lig LugeS STULITT

Lleeaisafia erene &rﬂu_urearm_su?

@A) loppb2 : B) 2wHpmnb3 .

(©)  lwpmib4 _ D) 2wpmb 4
96. Central Vigilance Commission was set up on the recommendation of

(A) Gorwala Report
ﬂ?ﬂ Santhanam éommittee
(C) Kripalani Committee - ' )
(D) Indian Administrative Reforms Commissi(;n
" sHw sanararfluL /el il emie) gpemeuib erger Lflpgiemruien Gufe arj)-u@\g,ﬁuur'_i_gj?'
(A) Ga;rrf-rsurrmrr SN &ens : T ’
®B)  spgrand G
(C)  Amuurefied @y .
®)  @pdu Birours Erfmss y@eamuid
O - _ . 8T _ GS17
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97.

98.

Which one of the following statements about Comptroller and ‘Auditor General of India is

not correct?

)
(B)
(0]
(D)

He has no direct access to the parliament and no minister can represent him
His salary and emoluments are chargeable on the consolidated fund of India
He cannot disallow any expenditure which in his opinion violates the constitution

He has been debarred from holding any office of profit under the union or state govt.
after his retirement

EpSaTL6UDMET GTHS Janm @bdlwreler gaaenn saéhe DN Senidamawimarnt upilwig Fflude

GTEITLIENS S MG

(A)

(B)

(©
@)

S{EU(HES unun@msﬁmggjpaﬁr Crmg Qum Ty Seviwings WHMID 6THE HEDEFIHD 6T
GrdBHuwrs QeuduL (pyuTg

Seurgy oaflub  wpmibd  Go  wvesruwenser @pSwrellen dsrEgLydu  SEGSmHE

aupriIsULGHEDE

SrAueemolil eldsEréE LInns Qeuf a5 CewelamisErsEh SIgnd alpkis Guions
BbgL geaenn sadg WHNID Safsmaurert ugel guiay Qubn Seran, WHH L Bidweag
wrile Sipsrmstigald uaTiLwen doal &@EL LGl cuddsred Seum Bilugailuies mbg

Baslueunt

The institution of Lokayukta was created first in Maharashtra in the year

A)
©)

.(Ea)rra;ué;g,n ETED SienioliL (PSETPENDIINS LDBSHI}quan_UI:I'Qﬂ]d) gHUESSUILIL_L peter(h

A)
(€

GS17

1970 ' (B) 1972

1973 | &D)') 1971

1970 By 1972

1973 (D). 1971
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99. Whlch of the following was referred by Surendra Nath Baneljee as “The Magna Carta of our
rights and liberties”? . . s

(A)  The Constitution of India )
(B) The Indian Councils Act of 1919
(C)  Regulating Act of 1772

6[)’)7 The Queen’s Pr(')clamat‘ion of 1858

-‘r_}';LDg;] o MempseT WwHmILD mg;gﬁug,;@msswem LDSTHTFEID GTEsm &Cﬁr]{rbgll;r‘r_arrg, LiTemred], é‘iga;&sml_eug)@cu
Grg,amsm @O mr?

A) @bdu sirdlwueantoliy :

(B) @ndu seyendle &b 1919

©)  guhHEwmp s Lb 1772

D) erfwurfier Yrs_enbd 1858

100. Consider the following statements with regard to Public interest litigation.
~ L In essence, a third party can bring before the court issues in the public interest

2. The Supreme Court may action the receipt of a letter ‘or post card from a citizen
requesting protection of his fundamental rights '

3. It is also known as social action -litigation .

4, Justice V.R. Krishna Iyer and T.N. Bhagawathi were its proponents
‘(A) land2 - | . (® 2and3

() 3and4 - i - @l 1,2 3and4

EpsamL smppseald Qungibe apss Glg;rnl_r'rurram gaplenen s(HSHe CQsmers.

1. Qurg peven &S e apermirhd Bt dyssameansamer BlnarnssnE Qaram( euFemb ‘

2. P Glyse & SiglumL 2 flowsmer LIFETEGD GuTBL Hu.s0 aumGeorsGeur -
Sjdeg surd ppawrsGar BHwamssi b Gal s Asrar md o debdioamib é){'&,em Guifle

LU @D

3. @& @@ &@a;puﬁg,smg) QG TL_TLITE GULN&E GTETIILD <N LGHEITID

4, 5@:_151 V.R. d(mpegenr snlwm LDQ}{_L]JLD (r_%@uﬁ T.N. useudl ACWNT Fren Glens Gla;rrm‘r@
GUBSEUTHET c%mrr : - )

@  loppp2 : ® 2wppss

© Buopmbs ) . D 1,2 3wpmb4

O - _ _ 39 : - _ " GS17

[Turn over



https://applink.adda247.com/d/XhqWf9lSap

Adda247

101. | Consider the following statements.
Assertion (A) : * Cuscuta is a parasitic amrnal

Reason (R) : Cuscuta depends on the host plant for 1ts aorganic food, water and
mineral salts.

(A) Both (AY and (R) are individually true and (R) is the correct explanation of (A)
(B)  Both (A) and (R) are individually true but (R) is not a correct explanation of (A)
(C) (A) 1s true but (R) is false

\(D‘)q (A) is false but (R) is true

) :ﬁggéaasrr@l.:n aundSLmisamer seuengder Qaners.
spm (A) : V@G eTenLIg) @i epl(Daiment alleuriflamd.
EE;TU’QSUTLE) R) D - sevu@LT Hangs o awre, samadt wimd sefln 2 Lysefldr  CameusEris
. NG SroursHlaens snfihd ma @I )
A) (A wpmb (R) Grerdn s, (R) erenug) (A) eflphe, sfwrer edergon
- (B) (A wopyw (R) @rasr@o &fl, Guogid (R) ereruig (A) el eflwman Aarésnde
| (C) (A sf e (R) Saumy . *
(D) (A seum @ri.,amm} R) &M

102. Consider the following statements :

1. Chlaroflure carbons have been widely used as super coolants in aerosols and
insecticides.
I1. Methoprene is harmful to plants and animals.

ITII.  Photobacterium phosphoreum is an example of biocluminescence.
IV.  Pedology is the study of soil in the natural atmosphere.

Find the correct statements .

(A) 1, 1I, III are correct (B)- I, III and IV are correct
(@7 . IandIIl are correct (D) III and IV are correct

Spd s mﬁésfsé]u_lréjaasmmé seuafl . '
L UFTERISET (aerosdls) wpmb  ysdls Osrodsefe, QupburstebLIns &GemrGir
 csyerGrrariusser e wflu @eafleml iy sers ummu@gguu@ﬁmmm
II. LB(Eg,mE]rﬂam sreurhger el GEEnsE Cal a&]emmaﬁ]uugrr@m
L SBumt G uréig Auib Limav.urflwib eraLig) e W geflirelliILITehSEsEE 2 STTaIOTELD
I‘:f. Je_regd ereuig) Glubena @Lpedled weir LHBIW S ieuT@ELD '
Epsaan GHuiPsmaer eSS sflwren ellen_ew a;r@gjé.
@A) LI Lofbgjtb I v’ @b sAwrearenal (B) I III wpmyw IV wl o sflureaene: -
(€) T wpgd I o Gid sflwirenenay (D) I womb IV bl Hib sflurarme

. GS17 _ ' 40 . 0O
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103.

104.

' 105.

GET IT ON
Google Play

The colour of tomato fruits is due to the presence of

(A) Anthocyanins - (B? Carotenoids
(C)  Flavonoids ' (D) Tannins

saamef LSl aimansAnE @ sramiiHb AummET srFaTLTELD

(A) yBCsr amawafenser B) &C’Sum'_lq_emr‘ruh BHEer
(C) UGeteuarmiiBser : D Geflenser

Which of the following is odd one out? .

(A) . FiIliccphyt:,a ' (,B’ﬁ Hysterophyta

(C) Lycophyta o (D) Psilophyta
§Q&amdmum‘mﬁ)@1dr QummEsLHPSS GHLIAHS.

(A)  SGCsT el . (B) ,a_n‘)'lefmq_(l?ljrrfasﬁ;ut'_l_rr
©) ' oeslerleullr - . D) emevGeamleanul_ L

Cycle dynamo converts

(A) Mechanical energy into thermal energy
@5’ | Mechanical energy into electrical energy
(C)  Electrical energy into light energy

(D)  Electrical energy into thermal energy

leuairiquiles o _erem enLenGLom wIHDIcuS

) apdr ppoe Qeutiu SpHOTE

(B) - apdly dmene e Y HpevTS
©) - fen gypmeres pafl gpppens -
D) e @pmened Qeulsu HmaTE

41
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| 106. Which of these connected in parallel in a circuit will produce undamped (l)scillations?
. (A) R, L (Resistance, Inductance)
(B) R, C (Resistance, Capacitance)
(Qﬂ C, L. (Capacitance, lnduétance)
(D) R, L and C (Resistance, Inductance and Capacitance)

Beupmer ersemen e HHElET LSS G GlEPERTSETD Sl DT HEMDESET GHLIHID?
(A R, L (OengenL, Wemflanainn) |

B) R C (SeseL, ScCasd)

(C)y G, L (WenCGszadl, Hemblanaioid)

D)y R Luwuigw C (WBeagaL, Beaflamawnd hmbd Walsss)

107. Which of the following statements are correct?

In an isothermal process,

{a) the temperature of the gas remain constant

(b) the gas does not take any heat from the surroundiﬁgs
(c) the internal energy of the gas remains constant

(d) the pressure and volume of the gas remain constant

{AY (b) and (c) are correct (B)  (c) and (d) are correct
\(Q)/" (a) and (¢) are correct (D) (a) and (d) are correct

, G Qarhisstiu’_Heren smppssaid eraneu &M UJITGETGJDGIJ?'

@@ swolautsublenes Blapeile,
(@  =ps aurwailen deuliublene LIDNSSTED
B Sps ey spRULPERNEEE THs Galiuepd aBULome
(c) aumwelel 2 67 BLHME TDTESTGH
(d)  eumyeller =& WHMID LYHLDET DTHTSSTELD

(A @pm (b) Lpyb (¢) sNwretenau B)  smpm (c) whmyb (d) sAurnarenas
(C)  &pm (a) vomb (¢) sflurerenau (D)  sapm (a) wimb (d) sRwraane
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Match the following blood pigment with their colour

&S Pndsmar oigear Hingdine gppaunn sflurs urmsgs.

()

Pigment
(a) Haemoglobin
(b)  Hemocyanin
(c) - Chlorocronin
(d) Pinnoglobin
@ (b (c)
Ay 1 2 * 3
By 2 3 4
) 4 3 2
Oy 2 4 1
Hipisl
(a) ~ aflGorgGearmen
(b)  afGuramswreafen
(©) @CamGrrgCGrrafler
(d) QeGemm@Germiie
(a) (b)
A 1 2 3
»B) 2. 3 4
) 4 3 2
D) 2 4 1

Consider the following statements.

Assertion (A)
.Reason (R)

B).

(©)
D)

4
y 1
1
3

1
2.
3.
4

(d)

(A) is true but (R) is false
(A) 1s false but (R) is true

T, W R 0 e
. I

Colour
Green
Red
Brown
Blue

il

LI&ens

- Hleutiy
- yreyen

bow

A drinking expectant mother can harm the embryo.

The alcohol can pass directly into the blood stream of the fetus. -

- \(X) Both (A) and (R) are individually true and (R) is the correct explanation of (A) ‘
Both (A) and (R) are individually true but (R) is not a correct explanation of (A)

Sp&sTemIh &St smeTs Heuagdle G]ssrreﬂ.sz

s (A)
&TyeurLD R) :

(A)

(B)
©

D)

43

¥

@uar&@m i Senfl Guer, g,co’r GRHms euaéslég @Jmuyggﬂmmm
ngiLmand GrsssHan apenrs GRhmesss Qewddams.

(A) wpmib (R) @rewr (b &fl. (R) GTENLIg) (A)elin @ sflwrer eflerésid

(A) wpmid (R) @rem@d sf. (R), (A)ég sflwmen eflarésiaa

(A) & gemmed (R) geumy

(A) soum <yemed (R) &

GS17
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Photochemical smog 1s formed by

oI 6oT

110.

W 0,, NO, H,0,, organic peroxide etc

(B)  Consists of mercury and lead -

(C)  Consists of NO, and CO

(D)  Hydrocarbons '

gafl Goudlwa uefllyms o ar_Tss sTrewTib

(A) %é;@ﬂgeh; enBLTeD pdanen(), snanl ymen gpsamev(B), gy reralls Quigpsamen( ete

(B)  urgrEbd wHYD STLD

(C)  enplgsmen vl damav(® wHmD sriLer Gorarrdeean (b

(D)~ evam Gy smirLe
111. CD-ROMis a

(Ay  Magnetic memory (B{) Secondary memory

(Cy Semiconductor memory (D) Memory register

&g -G erag

(A)  srhHs Hleneseusid (B) @UG{‘EMI_WL'D e Hlanenausid

(C) <afdps s Henemouaih (D)  Hleveneus LG
112. Transfer of a file from a server to your computer is called

W Downloadin'g a file (B} Uploading a file

(C)  Transfer a file - (D) Change a file

« Qareullflimbg 2 arayenLw saflallsEg @m aueme @LwrHpb dalums
e pEsLLIGEDS) ‘ '
(4)  ouae ufelnsshd QalsoH (B) eoume ufGaupnb Gelige
(C) . oum Qi wrhmb Ceuised (D)  enueoe wrHIISED
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113. Match List [ and List II and select the correct answer using the codes given below :

List I
(a) .Tropospheré .
(b) Stratosphere
{(c) Ozonosyhére
(d) Tonosphere
(a) (b)
A 3 4
® 4 2
() 2 3
oy 4 3

' (©

[ ]

(d)

= W

List 1T - {
Ultra violet rays
Rédjowaves
Movement for jet planes

Weather changes

ulgwed T-o e tiiquie Il-yewer QUImSSH, Ul ywdsErEsEs §Cp 26 AsTEl9ambS

aflwirer eflenL ullenan Azfley Qauis :

@)

(b)
(¢}
(d)

(A)
B)
(©€)
D)

ul g wied I

CGpriGuimaiv S

qu_CSr,rLGl_rr@"u@mr'r .

@CarGanmev Gt

= GuirGanmaeniGlusim

W T oW (W] =

@

o

(d)

o o W

- uliguwep IT
U e SdligeT
Crig Guir ieneuser
QgL cungyrivd} Lip&ELD LGS

cumerflenay LMD

- 45 7
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114. Match the items gi-ven 1n Column A with the items in Column B.

GS17

(a)
{b)
(c)
(d)

(A)

(B)

(D)

Column A

Coal

Aluminium

C:opper ore

Iron ore

(a) ) (c)
1 2 3
3 4 1
2 4 1
2 3 4

&

(d)

Column B
Sulphides
Bituminous
Magnetite

Bauxite

CamEs A-ene GgnEd B-eajdr Qummssis.

(a)
(b)
(©
(d)

A)
®)
©
(D)

Qam@s A

Hlevgamil -

-@{QJL&GbﬂU_ILb

Qeby srgy

oL g

(a) (b) ()
1 2 3
3 4 1
2 4 1
2 3 4

@

Gsr@s B
FenLI(H
9L Gublenav
CuseanenL

UT&enal_

46
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116.

The Bokaro steel plant was set up in the year
(A) 1970 (B) 1967
(@9 1973 D 1975

GursarCrr by Qsm@paren Blpeulii L aimHLD
(&) 1970 ' : (B) 1967

(C) 1973 ‘ D) 1975

Match List I and List I :

List I _ List I
(Crop) (Producer)
(a) Tea 1 Gujarat
.(M Rice : 2 Kerala
(¢) Tobacco ’ 3. Assam
(d) Rubber 4 West Bengal

@ ® © @

@ 2 4 3 1
@ 1. 2 "3 4
(C) 4 3~ 2 1 '
Py - 3 4 1 2
auens I opmid cuana 11-qemen Gurr@;s@ss':
cuas | auena 11
. (uufli) : (2-pusdlwimert) -
(a) - Gsulema 1 GRITS
(b) <=fd 2 Cayerm
(00 yemslteme 3. SH|GVEVTLD
(d) gl 4 Cuh@ eukigEreTd

~

(a) ®) © @

Aa) 2 4 3 1
® 1 2 . 3 . 4
€ 4 3 2 1
®) 3 4 1 2
. 47

GET IT ON
Google Play
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117. In India the electricity consumption is given importance to the following sector-order it
according to the importance given by the government

J}@ Industry, agriculture, railway traction and public lighting
(B) Agriculture, industry, public lighting and railway traction
“(C) Agriculture, public lighting, industry and railway traction
(D) Industry, agriculture, public lighting and railway traction
@bSwinedley Sipdigar_ genpsaflss fansry merasE Wwslusgean GsthsstLBang — Sins
Qar@éEb wasdudggeub Grarybd s @uUhEGUHSSs. -
(A)  Qsmfpsienp, efeusmugieonp, Erdd CursEarss LHmb Aurg @eflILES5IH0
(B)  elewemubd, Asmfingienp, umg gefluu®@ggisa wpmin Grlle Cursga g
(C)  eusmub, Gurg eafilu@ssise, grfihgieann womin Gruiie CursEaTsg
(Dj Qemfpgiens, edeugmob, Qurg gaflliuBsgses wHmb Grdid CursEaTss)

118. Match List [ with List II and select the correct answer using the codes given below :

" List 1 List I
(a) Vasanta 1. Summer
(b) Grisma 2. Monsoon
(¢) Varsa 3. Winter
(d) Sisira 4, Spring

(a) (b) (c) (d)

(A 4 2 3 1 .
B 2 1 2 4
(C) 3 2 1 4
@O/ 4 1 2 3

aufleng I-2 e euflens Il-iqenant) Quimsd euflemesigrsg Sip QerRssiul Herer AgrglNadimhHe)
sflwrer ellenulenan Ggiley Gawrs : ) '

afieng I euflens I1

(a) euspsT ‘ 1 GarenL_ gmeuld

() 4&fevwr 2. LY(56US STELD

(&) eunagr 3. @aflT srevid

(dy Sadlgr 4. EenGeuefln Hrevbd
(a) (b) (c) (d)

(A) 4 2 3 1

By "2 1 3 4

© 3 2 1 4

M 4 1 2 3
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119. The figure of a dancing éirl made of bronze is excavated in the place of
(A) Dilly : (B) Lothal
(\C)O Mohenjodaro ' . (D-) Rupar

‘g_r;:n'_tq.u_‘r whiens aerm Geuairsa 2 (heu GLIMbeNW eThiE S &SI L g ?
A)  god ' C(B) Gergsd

(C) QursgssgrCrr D) ot

:120.  Which of the following is/are wrongly matched?

L. Bhavabhuti - Malatimadhavam

II. . Subandhu - Vasavadatta

IIl. Kalidasa = -  Dasakumara Charita

IV. Dandia - Ava.mti Sundari

A) IandIlI ' (B) TandTI
(© LandIV @) 1l and IV

Aereu(meu emeu DMIET Seupns QUIHSSUULHETers) 675 ?

L ueu LSl - WIHDTSeD

I1. &UHS - QUTFCLSSSLD

III.  srafigmesr - - SEFGLONTY &lﬂg,.;_i‘l;lmb

V. g,e;'timq_u_lrr - B SleupSl &b

(A') I mmg;js.b III : B) Iwopgw T

© LI oppwlV ' ) D) III wpgw IV '

121.. How many major Indian private banks have been nationalised in 1969 during
Indira Gandhi’s regime?

A 10 - S ® 1 ;

seﬂ 14 . _ D) 20

1969-b yawr® @bslor st %Lﬁuﬁlm @urr@ aégmar QS ;_r,arﬂu_rrrrr euthudl e
Caflwpwbrdsii L g?

@A) 10 ’ : ‘@) 11
€ 14 D) 20
o : _ " 49 GS17
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122,

Match :
{a) Al Hilal 1.

&

(b} Navajivan
(¢) Bombay Chronicle 3
(d) Bande Mataram 4,

(a) (b) () (d)

A 1 2 4 3
® 2 3 4 1
e 2 1 4 3
o 1 2 3 4
- QUITHbHEI :
@) oo aflord R
(b)  peu deuen 2.
(€ wbumni dyreflse 3.
(d) euplsrgnb 4.
(a) (b) (c) (d)
A 1 2 4 3
B 2 3 4 1
€« 2 1 4 3
Oy 1 2 - 4

T

Dinabandhu Mitra’s first play

— ]

Mahatma Gandhi
Abul Kalam Azad
Aurob.indo Ghosh
Pheroze Shah Mehta

LO&THLOM SHITH
BiL|E) HEUMID 4FTEH
'c'wmﬁ]'r_‘ﬁ@ Camaiy
lﬂ@ungégasprr GuogT

exposed the atrocities of the British indigo

planters.

(A} Kulin Kulasarvasva

) (Qﬂ Nil Darpan

Senukgl WHITESleT psD BILsLONEHT
Qan(Hanwsamer GerefliLBsHwg).

(A)  @edlen Gevsmaurseum

©  fo siuer

GS17

(B) Ratnavali
(D) Ras-lila

— rEGow @amgGar GCarlLssmrreafler

(B) rseamauaf
(M) prseSeor

50 ' O
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124. K. Kamaraj, participated in Vedaranyam Salt Satyagraha, he was imprisoned and sent to
the prison at . .

(A) Coimbatore (B) Vellore
(C) Andaman ” : (B{] Alipur

&. STOTEHT CSGi.lg,rriJas'ﬁTL.ur.b o iy ssfundlrssded sapgs AsTamLgnans, esg Qsig Homulen

ML GHIULL @)L 1D '
(A)  Canwbuggnt _ By Geugyni ! i
(C) upswren - D) ety )

125. Choose the correct answer from the codes given below :

. " (a) Assertion  * The Asoka Chakra found in our National flag consists of twenty four
) spokes. They are in blue colours. ]
. (b) Reason  : . The twenty four spokes denotes the eight fold pclith of Lord Buddha.

(&) Both (a).and (b) are correct

(B) (a)is correct, (b) is wrong .

(C) (a) is partly correct, (b) is wrong

(D) {a) is partly correct and (b) is also correct

&Gép QSSW@‘%&;BLH'_@G?TGIT GiGsailadmbg eflurear eden_emw samHidy.

‘(a) S(HSS! : Bwg Casws Qamguiicr 2 drer Cans FEETD 24 QTRISEHET 2 ML SiEH6
' Beod Flmih Qarerm_eneu. ) |

(b) sryewtds  : 24 oy rmasEnb Lgsflen eramelfls Gamarenganis @édlarman.

4) (@) wpp (b) Granpoefl B)  (a) &, (b) geum:

©  (a) ugd wi B &, (b) sa (D) (a) e u@Sud, (b) wid &

126. Our National Anthem was composed by Rabindranath Tagore, it was first sung in the year

(A) 1905 . B) 1906
@) 1911 @) 1912

piog) Caflu Sssams o meursdweut @QreipSlypns srami, @DQWL@ WP (PFUNs EenFsetiuL

4G5 .
(&) 1905 (B) 1906
(C) 1911 . D) 1912
EO : ; 51 - GS17
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127.  Match List T with List IT of the following with suitable options

.- ListI - : List II
(a) Virupaksha Temple 1. Ellora
(b) Kailasanat_ha Temple 2. K'alugumalai
(c) V'ettui'arjl Temple 3. Pattadakal
(d) Ladhkhan Temple 4. Aihole
- f(a) (b) (c) (d)
(A 3 1 4 2
3 1 2 - 4
) 1 3 2 4
D) 1 2 3 4

128.

&ng Qa;rr@é;a;duL@s’rrm ulgwen I emmpa uliguid Il—o Gur@pssnraruban CsrbdsHés.

) ul'_Lq.u_rs‘u_I U ig ey 11
(a) &fmussr Camule 1. Grc'u(?,emr;nrr
(b) eoseorssrst Caruda 2. BH(LPGLOME
(c) @mL@r;rr%‘m Gamulld e Ll L G&eD
(d) elsrear Gamuble 4 ouusmé

@ ® © @

(Ay 3 1 4 2
B) 3 1 2 4
) 1 3 2 4
D) 1 2 3 4 .

Chinese pilgrim Yuan Chwang visited Kanchi in

&9 AD. 640 ®

~(© AD.150 _ D)

GS17

San WISNET WjeuTE SHeumhl amgpdlani LTI L g
A)  £.9.640 . 3 : (B)
©  £.49 150 . D

52 -

A.D. 500
A.D. 720
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9. 720



https://applink.adda247.com/d/XhqWf9lSap

Adda247

129. Consider the following statements. .. : , . -

Assertion (A) Gandbhiji started civil-disobedience movement in 1930.
" Reason (R) : Therefore, the Indian National Congress party did not partmlpate in
the first round table conference held in 1930.

(A)  Both (A) and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A) and (R) are true and (R) is not the correct explanation of (A)
. @9 (A) is true but (R) is false

D) (A 18 false but (R) is true

Epsaran b eursSwiismer SeuasHd Qamdrs.
sabm (A) : srhFwigsar 1930-0 sl opiy Quissseangs Cgm ke,
. amyewrh (R) 25CGeu, @rdu Caélw a;rrrméﬂrmu &L & 19306 e eut L Goens mngnqu
— sHH Camearareildena.
Ay (A wdms (R) M. (R) erarug) (A) eflibg sflwmer edlergaid
B) (A wpmd (R) M wHmid (R) srmugj (A) Gﬁ}m@ Fhlwrer eflarssween

(C) (A #f yame (R) seum
D) A saim e (R) efl

130. Consider the following statements. _
Assertion (A) : In 1916 Annie Besant organised the home rule league at Madras.
Reason (R) : Its objective is to achiéve home rule through constitutional methods.

m Both (A) and (R) are true and (R) is the correct explanation' of (A)
(B) Both (A) and (R) are true (R) is not the correct explanation of (A) ‘
(C) (A)is true (R) is false '

)] . (A) i1s false (R) 1s true

SpaenT surraaémum&mm seuaflggEaLb.

-

sahm (A) - 2 1916 <ypib gevor(n cg;;aneaﬂ QugeT @&Gmemmuﬂsu gsum‘mrrr_ﬁ FRIGSNS
. DADIOGHITIT. :
angenrid (R) " Sirflua@eiolil wpepule g,emsarm.é] SienLaiCCs @g,aﬂ ngnaaa;mrr@m

A) (A wombd (R) Gramr@Gu sh Cuogibd (R) eramig (A) aﬁ];’o@ sflwiren aﬂm&s&mﬁ@m
B) (A) vogbd (R) @rarGGu &fl CELD@;JLD (R) erevrgy (A) el sflwimer aﬁ]m&sasmsnw
©) " {A) gl t%anrrcn (R) saumy - :

D) (A seum gpanmed (R) ol |

0. o 53 e GS17
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131. Consider the following statements consisting of Assertion (A) and Reason (R) and select
your answer using the code below.

Assertion (A) :  The main political task of the national movement from 1870 to 1900 was |
politication, political propaganda and education and formation and
propagation of political ideology.

Reason (R) : The press was the Chief instrument for carrying out this task.
(&) Both (A) and (R) are true and (R) is the correct explanation of (A}
{(B) Both (A) and (R) are false

(C)  Both (A} and (R) are true but (R) is not the correct explanation of (A)
‘(D) (A) is true but (R) is false - -

Aersum G eursdlmsatled Garfasiul e sapny (g), sryad (57) <udumeusmer SESSO
Qaran(® £Cip Gar@aaiinHerer Agngldd G mba 2 miser ella_au Gsifla) Cals.

sanm (&) 1870 apse 1800 eueny Gadlw @u_lé;a;g;@sirr @;ﬂé;@e;rrmrr&s elterrmsdliLig)
.gmé]meurrasgg;su irflwuer Gysemb, Sdefl LHMO  SITdud Géﬁm_um_an
o (Heumadl LS.

FryewThd (&) ‘ Beisflasams e ugdlflsamasamen (P srsanons uu_lemu@g,g,uut_L@

(A) (&) mmguun (&m) pdlw @ et & (&), (g.) eNer Erﬂu_arrsm efleTEsmn

B) (o) wdmid (&) GysmGid seim

(C)  (ea) DM (&T) @ramHb selssalCu Fil gyenrd (&), (an) eler sflwiran el ardsn
(

I (s) &l (a7) geumy

132.  Which of the following statements is TRUE? '
1. The Government of India Act, 193'5, introduced dyarchy in the provinces.
11. India council was formed in 1935, '
ITI. Montagu-Chelmsford Reforms Act introduced dyarchy in the provinces.
IV.  Provincial Autonomy was introduced in 1935.
(A) TandlIl _ (B) Ilonly
(C) Ilonly () IIl and IV

EsaarLcunmer sfluineng erg)/eTeneu ?
' I @ erss s#Lb, 1935, wrflassals G el <l e Sidlpstiu® s g,
IL @bdwr sejendled 1935-d Qgm st g
II.  wran@Lg-CabeauGurih  Sfdmsss L  orflewsalds  Grlen oyl feow

SiflopsiLpsHusg.
IV.  1935-& wrfle sur’ & gpuBssiucL g
A Twpmnll ' B) ITwlpop
(C) IHwl@Eon (D) I whmn IV
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133, If the sum of two numbers is 1020 and their difference is 140 then the nun{bers are .

. (A)- 680,440 ’ o (B) 540, 580
@ 580 440 . U Dy 520, 500

L
- - - r . - Ll . s

&) eraimetian aau_@g Qznens 1020 wwguun ammgﬂm aﬂgglu_lrracm 140 erafled, Hibg eremaer

(A) 680, 440 ; " (B) 540, 580 L
Q) 580, 440 : ‘ M) 520, 500

134. Monthly expenditure of a person whose monfhly Saiary is 9000 is as shown in the diagram.
The percentage of money spent for medical expenses is

-

Food
expenses

Medical
eXpenses,

Other
expenses

A 10% @5 20%
©) 30% ' . (D) 40%

g5, 9000 wng &musﬂg&@} @@am Epsa@r_surn uaTgang dFwe] @&wgrrev SGUT  LD(HESI6
Qatsumﬁ?gna;rra; ummu@g}‘@u vemTg e 56lH0

a)  10% S ®) 20%
©)  30% - : D) * 40%

o ‘55 . GS17
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135.

" 136.

The value of
. 0.96
&) 4.0
{C) 1.4
248 x 2.48-1.52 x1.62 SELrei -
0.96
A 4.0
O 14
If 2% = 2*Y =16 then y is
(A 2 '
@’ o
277 =277 =16 arallé y pengy
A 2 ‘ '
e o

138.

GS17

If x+y=12 and xy =32 then l+~1-- 18

x
(A)

(©)

Wa | = o

x+y=12, xy=32 aala l+l 2,51
: e N ]

1
Ol
1
© 1
+§ of 6—3——3:?
7 10 9
A "1
(C) 2
3 .6 . . 2
1—(6:-1-6 @GD 7 LJFE.I@) —g:?
A 1
c) 2

2.48 x 2.48 - 1.52 x 1.52 ;
8

56

(B)
D)

(B)
D)

(B)
D)

B

D)

(B)

(B)

D)

)

(B)
D)

4.4
1.0

4.4
1.0

B[ @ ovloa po|— W bo|m

= @
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139. By selhng an atmcle for Rs. 480, a person lost 20%. For what amount should he sell it to
make a profit of 20%? - ; : ¥ :
(A) Rs. 800 ) : (B) Rs. 760

Rs. 720 : (D) Rs: 680

spmeu e Qumpefiana 480 MUTLEG edpuemer QElUSTD, BoumHEs, c;rgéu@tb mag (b 20%.
SamEG 20% - @emuh Ao ss CauagnBib aapred, Sipsl Qummallenar sl agsamen BUTLIES .

cflpa Geuahm(Hib?
% (A) . em 800 : B) o 760
Q) m. 720 : (D) . ew. 680

140. The highest common factor and lowest common multiple of two numbers are 12 and 144
respectlveiy If one number is 36. Find the other number : -

CV ' o B)

(©) 36 . ' _ (,Dﬁz;s

@ eremsafian BUALL Qurg smyert (eu@sd) 12, Bafly Quing bLkig 144. g aram 36 erafld
WDHE DT eTaRTEnERTS SIS, ,

(A) 49 : ; . (B). 50

€ 36 - (D) 48

14i. Three numbers are in the ratio 3:4:5 and their LCM is 240. Then the HCF of these number

is
o’ 4 - - B) 8

€ 12 - = (D) 20

3:4:5 eremp fEgaded o drem epem eTERTEENE 8.Qum.o (B&ém Gungy wLmig) 240 eraficy @)eumien
B.Qum.s. (BLQum Qurg sryefl) eraen?

A 4 ®) '8

@ 12 o D) 20

142. LCM of two numbers is 14 times their HCF The sum of LCM and HCF is 600. If one
“number is 280 then the other number is

. @A), 40 ) ' B) 60 :

T W7 80 ‘ ' D) 100 ‘ '

G cramasafian 18.Qum.w gengi seunilen . 5.Qurs eflen 14 wLAsi@D. B.Aurn whmb
B.Qum.s. eflen g (hge 600 6p(m eretnr 280 erenfled HEmm(H 6T ewTesT e
A) 40 . (B) 60 .
(C) 80 (D) 100 ' C ™
.O . 57 GS17 |
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143. The compound interest on Rs. 30,000 at 7% per annum is Rs. 4,.3.47‘ The period in years is

N o ® 23

© 3 . D 4

er(haE 7% sl eunliguled, ep. 30,000 qpaed g herar auliy ¢m. 4.34‘7 GTETE) GHITQ) HGTEY GTHSENE
e (e arend: sent (L. ’
@ 2 o ® 2

© 3 , | ® 4

144. A sum of money doubles itself in 20 years in simple interest. Then the rate of interest per

annum is ) .
@& 5% ®) 4%

(C)y 55% ' , (D) 4.5%

& Qgmans gcuﬂm_Lq_uﬁ]m 20 sugpL_migaile @)moLrksrdng Greuﬂeu eU(HLSHDaEmer aul_g aﬁg,mnemgj
A 5% : (B) 4%
(G 5.5% . ' D) 4.5%

145. The dlfference between compound interest and the simple interest on Rs. 1,250 for 2 years

at 8% is
(A) Rs. 2 - (B) Rs. 4

(© Rs6 : MY Rs. 8

8% euligudled 2 QU(HLRISE@RSGE  HLIMI 1250&3&9%& azsu_@\suuq. LHOD  Sefleu y&ELren

ellgH gD TaTg) . .
(A)  epumi 2 (B) emumi4
() @Lfmﬂ 6 - ) T D) emwumo 8

146. A flower garden is in the shape of a rhombus. The length of its diagonals are 18 m and
25 m. Find the area of the flower garden.

&) 450m2 @) 225 m?
(C) 324 m? (D) 18m?

R HCSM LD Ml s55 auyelld 2drang. Sigem pma efllLhsar 18 15, 25 5. ysCsmiL sélen
LFLILIETE ST6Rrs. '
(A) 450482 : (B) 2258

2 (C) 3248 (D) 1882

GS17 58 | o
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| . 147. If a square and a rhombus stand on the same base, then the ratio of the area of the square
i and the rhombus is

(A) greater than 1 ﬂ})/] equal to'1
(Cy equalto —:-l- (D) equal to }-

. 2 ' , 4.
FHTLD LD[_TJQ}LD FMIFHTLD @err@m @Cr @{Lq_uuasasgmga; Qaarrmm_@gg;rr@) &gITD WHMb eriiFgsysHen
urluerellen el flsomeng :
(4) g efle @iflswmEn B) 15@ swworEd _ -
(C) % &(& FLOMGD ) (D) i &(& FLOMELD

148. Two taps A and B can fill a tank in 10 hours and 15 hours respectively. Both the taps are
opened for 4 hours and then B is turned off. The time taken by A to fill the remaining tank
is ) .

@A) % Yot (B)

hours

13
10

28 hours
3

(C)  6hours G
A, B‘éreifrg) Gumisar gm dzmiguiamer apenpCGu 10 wpmin 15 wefiCrrada Hlriu Gueanb.

@irent(h GLRTLSERD 4 wasflGhrD é,]mgg\; el Ul @ Gp@ @eml B @i ssiin@dng. @g,m_lq_uﬂear
erghdl LiGlanuws Bliylis @g;mu A ﬁ@ggﬂ&; @a;rrm@m Criywresg) .

@ 2 oancr o ® 12 owicprs -
© 6uoaflesrs I @) %t:n'mﬂ@‘mljm

’

149. A and B can do a work in 12 days B and C can do it in 15 days C and A can do it in 20 days. -
Then the number of days reqmred to complete the work A, B, C together is

A 5. M 10
© 15 . _ ) (D) 20

g5 Gouenevans A womd B 12 prlsefiginb B wpmn C 15 priasaflgyd C mpmin A 20 srlsaflgid
wpy o arafles A, B, C @Eﬂ'pj@_l é{(r_ﬁg, Ceueavenii (pig 58 CaaneuiLi®b prisefer cramanlléams
A 5 ®) 10 :
(C) 15 D 20

150, If9 girls can prepare 135 garlands in 3 hours, number of girls to prepare 270 garlands in

1 hour is
(A). 20 - BY 54
(C) 43 . . D) 19

3 wenfl Cuosdled 9 Queinaar 135 reesman gmmﬂa;éi]mg)mn erezfﬂeu @ Wewi @g;gg,ﬁeu
270 wrepevsamer wmilEs CoeneuliLiRib Cluersef e Grmrmﬂesema

(A) 20 _ B) .

(C) 43 . D 1_9

.0 ' . 59 _ T GS17

[Turn over



https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

Addai2M

151.. The sum of numbers commeon to two diagrams is

152.

&

O

(A)
©)

(1)

@

(A)
(€)

e

GS17

(2)
(A)
©

118 (B 110

108 - . (D) 130

35/ &
42 20

118 - | B) 110
108 ' - D 130

D is taller than C but not as tall as B.

* Cis taller than A.

Who among A, B, Cand D is the tallest?
A ' ’ B
C - ' D D

D eranmuicur C-g Sl 2 wipwraneur yemmad B wiereys@ o winldldena.

—

. Gia;fr@é;asuul'_(b\a'rrm LLgSe gCsamib G auTULRISEsSE QuigeuTs o 6rar dramaeier s Hed

C ereeu A~gg el 2 wiponaneur ereflléd A, B, C wpmibd D-ufiéb 2 wiromemeui wimi?

A (B) B
C S _ . O™ D

60
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1563." Find the next diagram.

el s T

@) - h ' | -wﬂ- E_>

(©) l_l . o |
2BES UL_Gdlenen el ‘

1NN A U

(A) B)

] &R

@ P i | [ W

1564. Find the. missing number in the foﬂowir;g'series -
1, 8,9, 64, 25, ?, 49 '
&) 210 ' T ® 212
© 214 - @Y 216

Gemaumd CGgm M eflGuLL T TG T °

1 ©1,8,9,64, 25,7, 49 _
= S @) 210 ' @B 212
€) 214 . ' - . D 216 *
O ‘ e 61 ' - GS17
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155. Match List [ with List IT and select the correct answer using the codes given below the lists :
List 1 — Officers - List IT — Charges
(a) Rajukas 1 .
{(b) Pradesikas _ 2. . Secretaries
) Yuktas 3. Revenue Collection and Police
, (d) Dharma Mahamatras 4 District Judge

Religion

@ ® © @@

&« 4 3 2 1
(B) 2 4 1 3
(C) 4 3 1 2
D 3 4 2 1

w

auflens I 2 e auflens [l—ewans Qurmasl auflensaense Sip Garhasiuc Hemer dsrentadmhs
sfluman eflenL_amws Cairay Aals : ' . . '

aufflaos T — sifanf aufflens 1T — Qummiy
() - grgos 1. FDWILD -
(b) GgCzaflar 2. Qawement (Siag) srflugh

(©  wssi
(d) .smwowaTorsSHyT

eufleued Lopmitb Sreud

_wreu L BHub

- gt

(a) ) © (@

A 4 3 2 1

- , B) 2 4 e
| (C) 4 3 1 2
‘ Dy 3 4 2 1

156. Which of the following known as complete fertilizer?
(A) Nitrogenous fertilizer . ' (B) Potash fertilizer
fCJ)ﬁ' NPK fertilizer (D) NP fertilizer

EpEsan 2 raiaafle wppenowimen e b erg)?
(A)  eoBLugen o griser (B) " Qumli.ireiy 2 priager

(C) NPK e_grager - (D) NP o grusar

GS17 ) - 62 : ' 0.
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157. . is called buckminster fullerene. |
(A) - Diamond S ~ (B) Graphite"
@) ¢, : : (D) Coal
LIGLOETGLIT oo | eviTatr eTen BjenLpasiiLi(Bheug) : G,
Q) emumb‘ ' - (B)  dymlieul \
© Cy - o sh

158. Which of the following is halide o_re;? )
" (A)  Dolomite - B Rock salt
(C) Bauxite ' - (D) Galena

- Sipssamaupmier arg Capema® srg?
(A) GlLreenol (B) umepe iy

[(®)] urréssmm;l'_ : 1 " (D) geSau

159. The major c‘omponent of nat-ural gas is
(A) Ethane B Methane
(©) Butane (D). Propane
@Quipens eumuefler Qb LtiE Qupeg
© (A, mGsan 5, - (B) BCsan
(O SycCler L D uGrGher -

160. What is the literacy .rate of female population in India in the year 2011?
< X 65.5 percent (B) 75.3 percent
(C) 82.1 percent D) 64.5 percent

2011-1b yemmg.ed @nduiralile, aser @g.rrem&;uﬂsi) wsafi &HmeuT eIFLD arémen?
(A) 65.5 sgeisbd . . (B) 75.3 szaiswd .
(C)  82.1sseS50 . ' (D) 64.5 speSsn
o - ' ' 63 . - - G817
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161. - Ff‘Jreign aid can f)erforﬁl the following gap filling functions in UDCs. ~
1 Savings gap ' '
1L Foreign Excha‘nge gab
I11.  Technological and Management gap
IV. N atural Resourc.e gap - '
(A) I andI1I @& 1 1and 11
(© " TandIl ' @) Monly

cueni&s) el HrH&setle Giméﬂ;r;rn'_@, BAwrers Sipssram b S Qeafsamer Slyiug Qeiifng -
L Calliy @ent_Geuafl ; ] s

L oyphu Qseared e Ga

ML Gem@epr.u g Hiers Gem Qe

V. Quinpems euar Gan_Gesafl o - . -
(A) 1T wpmb I1I . ®) 1, I opm 11 '
©  Twpgo I D) I ol :

-

162. The growth of which one of the following remains an important objective and necessary
condition for inclusive growth?

)  Agriculture and allied sectors _. ) (B) Industrial sector

- . () Services sectors I (D) External sector . °

Sps@T_apmdT as@mLL aeaiEdl wadu CETéswrsab. 2 areilsdu eeTiEdlEE <ieudu

Blubsenerurseyid Sapdng? ‘ _
(A)  Geuerress wpb S0T6HS SlenMHESET (B) Qsmfpgienp
H{(C)  Goemeus genmaear _ ' T (D) Qeueflypeysseny '

163. Dunkel proposai was related to .
wj © GATT -- " (B) UNO
(C© IMF , (D) IBRD

LaI&eT S b @ seni e GgmemyemLwsn@Gn
A  aml @dug,g,m (B) s B () siee
(©)  uaram () HE - o D) 28 aumd

Gsi7 . e o R -0
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Consider the following statement :

L.
IL.
ITI.

A)
(©)

India is a major energy producer
India 18 a major energy consumer

India faced powef shortage since 1950-51

. Which is the correct answer?

‘lonly ° - : " (B) ‘Ilonly

landMonly - - Y 1,1 and III

SsaanL. cunGElLIRISmaT Seuef :

L. .a;;,g)mso F&dlenin Q_@mm@m apsshu g;rr@a;aﬂa) @,r_agﬂmrreqm e -

IL. %mmm séhdleows cﬂ:{g‘ﬂasmrras HI&@WD BrHsafled @bEwimei epermy

II1. 1950—51515]@;5@ @bSwrelie c%),r_r}g)su g&8 QBT ihg) ug)mnaa@amg)wrras@eu D_GiTemgy.
Gleunmer erg) sfwren aflenL?

A Twi®p T B) Hw @

©

Consiaer the following statement : .
Statement I :  Gross National Product will always be more than the GDP.

Statement 11 :  To get GNP, net factor income from abroad is added to GDP.

Find the correct answer :

(A)
(B)
(€)

glEPEGEGEUTL_ Gl.il'l'&ié:]UJFEJGSGDG‘H EEDJGﬁﬂ

Famy c. Qorgs pri® epusd alGuripgid G]Long;g, 2 aTEme (h amugglemu_[ affi_
- ifswrsbeal @)MmeEEGWD. .

sapm [I . Qurgs prilh e pusdow CupeusnHE, anggy o BT (B 2.pusHuLen

- Qaueliprpacia Quwpa fHoLsgd Har amafisaisn cumoragmgyn GCsrss
Geuator(HLD.

Gleupmier ergy sflwimen aflepL_? - v . :

(A @uenh smdnsERGL g,eaﬂg,gsaﬂ@u_l o amenwy CGogn dpm I, spn Ise sfluren
" gllengsomEin. .

B grar® ah,rpgje;@(‘aw g,euﬂgg,suﬂ(ﬁu_n EIﬂU_IITG'dTG?.‘)aJ (Su)gzjw ahg}g] II apn la@ efwnar
clleT&&HE®

©  smpm [ sMuneng, @yemme sapmy 11 geug}rras@

(D)

. Statement I is false, but Statement II is true

(D) I, II wpmw I

-

I opmin I wl @G

Both statements are 1nd1v1dua]1y true and statement II is the correct explanation of
Statement [ . :

Both the Statements are 1nd1v1dually true, but Statement II is not correct
explanation of Statement I

Statement I is true, but Statement II is false

apm I seupreng, pemed smpm I sflwireng

65 GS17
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166. Consider the following statement :
Assertion (A) : Price policy aims at controlling fiscal deficit.
Reason (R) :  Fiscal deficit Ic::ads to inflationary pressure.
Which 1s correct answer? ‘
(A)  (A)is correct but (R) is wrong
(B) (A)is wrong but (R) is correct
(Cy  Both (A) and (R) are wrong
@) (A) and (R) are correct and (R) is the correct explanation of (A)
e eunsdutisamer Heuer . . ~
samm (A) fenavd  Qamerens B0 upprsgapean S sLAUUESHD  Coréshd
2 @)L LT (ED.
smreantd (R): FEOUDDTEGEnD LanTeShs 1(pSo5ans 2 eiT_THELD.
Gleummer efluinen eflen orgy?
(&) (A) sflurarg ennéd (R) geupreangn@o
(B (A seupmeng: spemmad (R} eMwinangma b
© (A wpod R) @ein@ib seupianesas 2y@id
Dy (A LDE)Q;Lb R) giran(hw sfwrarepas wpmibd (A) &6 (R) sflurer @S]emisa;mrr@;b
167. Who was the Chief Guest at the 45" Independence Day celebration of Mauritius?
(A)  Mr. Najib Mikati 1 . @) Mr. Pranab Mukherjee
(C)  Mr. Shinzo Abe (D) Mr. Gabriel Costa
Grfflues Briger 45-aug sspaly Sargsanm SpLiy aﬁl(_@‘r_'r)'é,]gmgrra; &b Qaraim_euir wimi?
(A) 4 pgu blang - . B) S Qyenrl gparg !
(C) S BanGenr G D)y A smAAGwe Cameum
168. Who is the winner of 2013 Pritzker Architecture Prize?
‘ (A{ﬂ Toyo Ito (B) Jessica Ennis
(©) Seth Macfarlane - (D) Simon Hayes
20131b gamRésrar A _svat sy L ssme uflas Qelsmmeu wimi?
@) GLGur @Gin B)  Gugadar erénafleny
(Cy Gss QuauiQeCen (D)  enswer Capuwiev
GS17 66 - o)
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169. The world oldest lady Koto Okubo, belongs to which country?
&) Japan : (B) China
(Cy England (I} Russia

2 audlem suwgnen Quarroefluner CarGr qEGur arhbs Bl & Gsrpgeun?

(Ay  guumar ) B) Fear
(C) p@ndarmg . D) geigwr
170. Match the following awards with the respective fields.
(a) Borlaug Award 1. Science
(b) Nehru literary Award _ 2. Adult education
(¢) Shanti Swaroop Bhatnagar Award 3. Agriculture
(d) Hari Om Ashram Award 4. Various facilities/eminent teachers

@ b © @
) 3 2 1 4
9

(B) - 3 4 1
) 4 1 3 2
D) 2 i 4 3

Eipsar_ efl(hE)&EHL 6T eTene G]g,m_r'rqém_mmmgbmm Curmsss.
(a) CGunremh eflmg ‘ 1. ifleflwicy

(b) G oflQeurafl aflmg 2. gl aubGETT Sebafl
() empd dveuenl LLBrsT all@Hay 3. elleugmuid
(d) amfl @b yevrb allmay 4. - uCeum genm A Mwiisar

(a) (b) (c) (d)

(A) 3 2 1 4
@) 2 B 4 L
© 4 1 3 2
D) 2 1 4 3

171. Which of the following is not correct about IRNSS-1B satellite?
(A} it is a navigation satellite
8} lifted off and placed in orbit by PSLV-C23
(C)  has civil and defence applications
(D) lifted off from Sriharikota

IRNSS-1B Qeupenas Carer @Hlse Spssam_suppier erg) #fluimang) <ida?

A =g em auflar G deubassGarer ‘

(B) PSLV-C23 =ué ar(Rsgd Qecvertin’ (@ snn eul L Liunansuler Slene Blmssiiul g
(C) Errgmeu HMIWD @FTENIGULD FTTTS LIUIeTLITHEOLULIE

(D) L HenfGam refsflmng AeayssiLilL g |

0 _ 67 GS17
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172.  Which of the following states do not have tiger reserves in India?

(A) Kerala ‘ (B) West Bengal

(C)  Uttarakhand @) Jammu and Kashmir
’ : Sipssaim wrHloniseha Leladr ungaTiusDd t@si)a)rrg @pEw il s1g)?

(A Gsgemr (B)  Giom eurisremd

(C) e gsyamar’ (D) sbp wHmb srepdm

173. Transgenders were granted the status of third gender bjr the supreme court on
(A)°  March 20, 2014 @) April 15, 2014
(C)  June 15, 2014 (D) dJanuary 20, 2014

WAHDILUTEQTES6U TS aT ApEDITD Lnalemomns 2 FbSoenpLd BISSTYLD euIpBISW [BireT
(A)  wrrE20,2014 (B) gige 15, 2014
(C)  e®an 15,2014 (D) smareuf 20,2014

174.  Which of the following pairs is NOT correctly matched?

Indian Scientists Field of Work/Research
(A) C.K.N. Patel : Photonics and Laser
(BYy Meghnad Saha T Astrophysics _
B (C) Benjamin Peary Pal : Disease resistant varieties of wheat
(Dﬂ Autar Singh Paintal " Cosmology and relativity

Glemeu(peuemeupmer sfluflcvers Gy ergy? .
T @ndu yhiefuemart @E-U._IGUIT;I‘_')@UJ LjeoLb/ syrmis&d)

A).  AaGs.erar. LGLe : o CurLai&ev whHmd GeaT

(B)  Guwsapng smanr Cr eunar BudiGue )

(©) @u@&uﬂ@iﬂ Qwfl umey Crrit sl Gupp Carglenid euenssmaer
D)  ysrm fm amuem @ STGVDTRE) LD;iJQ}Lb Fmlued

175. Which is the National Sanctuary/Park that houses Pygmy Hog, a critically endangered

_species? :
(A) Gir (B) Kaziranga

¢Cy7 Manas (D) Periyar

ApHOleID = LSHIEE o L uBSsUIUL L @ernnrer 9610 anms erab 2 «flagden sremrewinns o drar
Gl spemmranwitd / | masm

A & : - (B) sred phss

() wewew . o Dy Quflamri

GS17 s 68 O
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176, Name the proposed new dlstrmt of West Bengal State in ‘70 147
(A) - Nalhati (B Alipurduar
(C) Silda . (D) " Adra

2014 0 cfg,avmq.a} Cup@E cisrargda Lusrs Carpmel&aiuL aerer I LD 6182
(A)  peanli (B) @ellyrgeunt
C) Seorrm D) eilgr

177. Name 'the Indian origin girl who was honoured as ‘Champion of change in 2014 for their
exemplary leadership in white house? . : '
. (A)  Esther Yu Hsilee (B) Dayana Elvira Tores
69)'7 Pratishtha Khanna (D) Anahi Mendoza

@Gumemm wraflensufled wmhHpssen &srg;emsmu_irrmrr 2014’ &flmg @ch.pfﬁhﬁ Qaemellssiul L @pHu.
sulbgreudl @uemroenf] wiri?

(A)  erasf waSel i . B) swrent Gm:)eﬁr;rr Qe
(C) Qrdlevgr apenarm ' ] D) ypemdl Quen@mgw

178.  Which glacial mohptain region was named after Indian origin scientist Sinha of U.5.A?
w South Eastern Antartic ' (B) North west Arctic
(C) Himalayan Peak Region . (D) North East Alps

'a@mrﬂ&&nmn%p @rrggﬂtu el ehenmef] ﬁsm,a_njrraﬂm GuwiT GruU@gi]u_‘ﬂ@.) o arer Ui

@I_I_LJUI_@ aremg?
(A) Gazadlipss qgmmn_rrmq,as ) - (B) em_('éwﬂ')@ SYiTig &

(O @uuwwemeuler aﬂa;r;ruu@@' (D) auLélpss elien

'179. Which is incorrect pair in the following regarding Indian Tribes?
‘(A) Bodo - Asom '(B) Ghond —Odisha
(C) ' Munda — Bihar ' ) Angami — Arunachal Pradesh

"‘%(859 QarPésiu’_Harer @b ut&p@@@uﬂmrﬂ@ TS5 B)enemTEeT HeuDTang)
. (A)  GurBLT - &Gsmd (B) Garemin— qugsn ,
C © wamr - Semr | ’ (D) <omsms - smarrel GAgGssn
O . ' ‘ 69 . GS17
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Which of the following is not true about Right Livelihood Award?

180.
(A) The award was established in 1980
(B)  Itis usually shared by fo;:r Persons
(C)  Itis known as Alternative Nobel Prize
H;ﬁ Presented annually in Brazil
sorL eneveuedabl el @@gg &Qa;aﬁm.augbge’rr oTE) &ﬂmnmé@m?
(A)  cuslimg 1980—b @ gpuBSsin_L g
(B) GQungieuns c"nmsﬁ@g} e Guipmed LA THE Ga;rrerrmuu@a‘:]mg;
(C)  wevellmg wrpm CGerued ufsras smsliLGdns
(D) %&N@G,&,n@j@ GG &ladley eupms LB Sm s
181. Match the following :
(a) Rhinoceros 1.  Desert Plains of Rajasthan
(b Hangul 2.  Kaziranga National Park
{(¢) Gharial .3. ~ Gorumara National Park
(d) ) Great Indian Bustard 4. ° Dachigam National ’Paxjk
. @ B ©. @
a 1 3° 4 2
B) 4 2 1 3
© 3 g B0 &
oy 2 4 3 1
Epaar_eupennls Qumméss :
(a) amawLm 18(meLD ji- FTERGNOH TN LiT6n GG 6T swdalef
(b) apmisd 2. srysn Caélw st
(©) &gy dle wsow 3. smwmyr Gadlw misr
(d) SACp_ @bHwier Levi "~ 4. Lrflamb GCadlw ymsT
@ ® @ @
A 1 3 4" 2
® 4 2 1 3
© 3 1 2 4
o 2 4 3 1
GS17 70
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182. IRV 2020 project is related to . -
(A) Wind energy project "« (B) Solar energy project
(C¥) Rhinoceros conservation project D) (_}_‘anga River purification project

B
»

IRV 2020 i’ Lib eranuig) @senit e Qsmiyen g ©

(A s esH S B) @l ssd S
(C)  eopCanndynev Lingyamiy ‘g‘,h'_l_Lb (D)  siens pd gni@wluhsan Sl b

183. GM (Genetically modified) potatoes developed by British scientists 1s resistant to Whmh

disease? - .
(A)  Block dot . By7 Late blight

' (C) Pinkrot : (D) Potato spindle tuber

gudle elgseraflserdy GM (mgu@ LGl mnm@mmm&&uul_L_) &@ma’r&éﬂl@m@ TH |
Corullenan aTélTé@ibd g,mmmu_;mgu_@y? '
(A Yermd Lm_
(B) Geal demar_
(C) Gemg pml -
D)  2meneng Ay s (G\urr@|_®|‘_rr a9l éiig 60 L ILLLIT)

184. Which are the countries participated in the Bilateral air exercise named “Garuda V”
conducted in Jodhpur, India? ) - '
. &7 India and France (B) India and Russia
(C) India and America (D) India and Singapore

" @nHurellen Condyi mailay HLSSUu L as@i_n il eremyLd @(BSTLIY Gumen @J@]uuuﬂ]ﬂ)ﬁuﬂm FHHS)

Qaram_ Br{H&eT eranes?
- . (A @bdwr womib Symesen . (B) @sdwr whmb regwm
(C)  @sdun mgb@ub é{@mrﬂéaa;rr _ (D) ‘@ﬁjﬁu_m mg’)guLb Arigligy T

185. Graphene is used for manufacturing bendable smart phones What is the other field for
which it can be used? .

(A) Medical Radiation therapy ' (B) Super lenses
(Cy  Quantum computers . (79 Ultimate water purifier

DL S&E&SmI L GO walCLSsamar gmwrﬂuug‘ﬂe\) oo Sei ummu@gguu@aﬂm@ Co@ib eig

vwero(HEsULIhiD @Jmm aTEI? -
L A)  wmsge sHitelées suall Hlauryetid (B) B eflovenevsen N
. (O maurarLw sanflaflger ! D) . <oy Cul i ssdafiy srgeand
o . o oo _ . GS17
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186. Which world heritage monument of India was affected in the storm of May 30, 20147
(A)  TajMahal ~ W Humayun’s Tomb
(C)y  Tomb of Safdarjung (D) Sultan Raziya’s Tomb

G 30, 20146 gnulL e FHnssred Srestl L @;‘D.é,]urraﬂsh o @& Wysren BOTEETT Aairand

érgy?
(A)  sTm wane i (B) afwomyer G

(C) slghmd b (D) wevgren pFwr Fib

187. Which of the following disease is not caused by bacteria?
(Ay Malana (B) Cholera
(C) Tetanus @ﬂ Dengue

Epsarr_cueseudmiar, aThs CHM UTsleMUTEsaT 2 (HauTGEILL TS ?
(A) wCeofwr . i (B) sregm
(Cy QL Lemsv ' (D.) Gl_mig

188. Which is/are correct concerning the Adminmistrative Tribunals Act?
1. It was passed in the year 1985

2. The Act includes both the Central Administrative tribunals and the State
Administrative tribunals

(A) lonly (B) 2 only

{0y Both1land? (D} Neither 1 nor 2

Aireurs Sriumukger #_Lib Qem_rurs ergl/eraneu sMlulraienal?

1. =igr 19856 Quipmiinl L gy

2. sigwsHu Hicurs SToumubd wrfie Hreurs SrOumub edu Gpeamal b o e _dduig;
(&) lol@o B) 2w o
(C) 1 opmib 2 gypélus @rer@ibd o (DY 1 e 2ib =ydien

183. Who decides whether A Bill is a Money Bill or not?
{A)] Speaker A (B) The Finance Minister
(C) Finance Secretary (D) Leader of the Opposition

+

@ wGergrmeu Lewr WEETET TaTm (LPlg6 Qeiiaug wm?
(A)  sumBrLET “(B)  HE siemwast
(C) P Qeuiemrert ' . (D)  ehital 8s seneeuir
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190. Which of the following are/is stated in the Constitution of India?
i B The President shall not be a member of either houses of Parliament -
2. The Parliament shall consist of the President and two houses

Choose the correct answer from the codes given below :

Codes : ‘
(A) Neither 1 nor 2 - (\B’ﬂ Both1and 2

(C) 1 alone . (D) 2 alone

Epsam_eupmer rdluaennliy &L gl GHudtul Hdrereney eraneu?

1. G WLiEs senevaut uTgTEsLeaD B\ sieneusaigyd o mliSearyrs G mée wr L rr

- 2: LITTEHLOETDLD ETenLIg) G5lq WTES Senaaul pmib G Sieneusearu b ClsmawrL_gmEL.
Spaaim euflenguiley sflwimen eflenLanwi Carey Qe : - ‘ ’
auiflens : . -
(A) @ran@ubldvame ! E B) @rewr@n )
(C) e wl (Hid J J (D)  @rew(® L Hid

191. Who among the following became the Prime Minister of India without being earlier the
Chief Minister of a State?

1. Moraji Desai
2 Charan Singh
- 3. V.P. Singh
4. Chandra Sekar _
Select the correct answer from the codes given below :

Codes :
(A) 1,2and4 - ' (B) 1,2and3

(C). 2only . . (]Zﬁ 4.on1y
SpsaLeuisafled wir xﬁh;rglmr;rrreugm@ (gp‘ainurres rhle (pseeuTHaTTS u;{;eﬁ] Guﬁé;aarrg,a;frasah?
1: Quomyrell Caemi '
2. Fiyent I
| 3. &flq A
: 4. ~ spSrGesit ' :
‘Bipasacupble #fliurer eflenL_anws Ggﬁﬁ;@é@ 1

euflens: .
(A) 1, 2pmb 4 ' “(B) 1, 2wpmb3
©) 2w b . - (D) 4wlw

O | (5" Sggr ‘ . . GS17
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192. The Chairman of the Official Language Commission in 1955 was

(A)  Gobind Ballah Pant

&) B.G.Kher , - ' ‘
(C)  Dr. B.R. Ambedkar | '
(D) Santhanam

1955 e;.y,b yeimiq.an P HGAY yamamusslen semaeuTmss I_I@UﬂU_IrTf_f)@lLiQ._lﬁ' : | ‘ x
(A Cam@p urem Lrem_

®) B.GC. Gsr

(©  réli BR. sbGussni

D) FHSTED

*

193. The National Commission for reviewing the working of constitution was headed by
M.N. Venkatachalaiah was setup by the Central Government in

« 2000 _ (B) 2001
(©). 2002 o - (D) 2003 .-

Sirdlwueamwlifer Qewdum L wneye Qeumghsrs M.N, Qemis_rdsoamawur ganaeamwuia

Cadl penenTuilh eSS L 6 (H

" (A) 2000 E ik - (B) 2001

(©) 2002 - . (D). 2003

194. Which Article consist of the provision relating to composition and its power and functions of
the Election Commission of India? - -

() -Article 324 - . (B) Article 356
(©  Article 370 L (D) Asticle 243

g el Qb Caigd emammurslen cwsmlmuq. iflamyd LD'f_i’)Q;Lb ueRflsener e_eramLSHleTeng?
(A e 324 (B) o 356 '
(C)  ofif 370 S ‘ (D) c94 243
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195. Which of the statements given below is/are correct? .

1. The State Election Commission superwses and conducts the Election of Panchayats
and Municipalities in the state _

2. It also supervises and conducts the Election of the State assemblies and the
Lok Sabha . .

(a{)’) lonly (B) 2only,

(C):- land?2 (D) * None of the above

£Cp Qan(Hssiul Lepper erg) sfumer sifléans?
1. wrfle Csisd pamamu, wrflosdaere LehsTwussy wHnL pBarr_flsaflar Corgame
BLggeugid, Cuopurieeuud (Heugib

2, rhle FULFmu wHpid wasatenel Carseasamer BLGgleugib, GopumieaneuulHeugid
(A) " Ll (b . (B) 2wlHw
(© 1wpmb2 _ D) GuhemPiu ageddme

196. Considerlthe following statefnent‘s *
* 73w Amendment of the Constitution has provided constitution sanction for
1. building a 3 tier structure of Panchayat Raj ‘
2 rese.rvation of seats for womer _ .
3 withdrawal of the right of govts. to hold elections to the Panchayats
4 taking away the right of State Governments to give grants to the P-anchayats

Which of these statements are corr(;ct?l
X)) 1and 2 T B) 1,2and 3"
" (C) 2,3and4 (D) land4

Gemeumid sapmisaner SHSH6 Camars.

T3eugy sirflwe Hmss L wCFrsT Ao Ylemreu(meuaeuHm&E eull s CaigieTeTg)
1. LEsETLSE T8l 3 DHEG e FOLDSHIeS )

2 waatmasTen safl @)L ps&Es0H |

3. LgpemuGgssTen GoiTgene ‘r_r,l_g,g,no < SlEmyd &U&ﬂ(’ﬁl&;ﬁ@l_ﬂ@[_ﬁg} Slpiou @U[DLJL_H_.L_QJ

4

bley 7 FThIS ST u@&nmgﬁg}@ HE auprigd o Mevwo LHEsiL L gl

@eupdlér sMwirer sy eT5)1?

(A 1wdmnbd 2 . _ B) 1,2wpgw3
©) 2, 3womd 4 : D) '1 wopbd 4
O . . 75 ) GS17
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198.

« 1n which-year, the Lokpal Bill was not introduced in the parliament?

247

(A) 1968 ' : © (B) 1971
(O 1985 & 1978

&G égﬁ]@ﬁ]L@eﬁa—} pearHaefia Garsurd wGsrgn abs amgd Blopsiiu@EsIi Laﬂ_sbmeu?
(A) 1968 . B) 1971 -
(C) 1985 ' (Dy 1978

.

Which of the following institutions have been setup by Govt. of India to check misconduct,

malpractices, corruption and misdemeénou;'on the part of public servants?
1. Central IVigilance Commission

2. Lokpal |

3. - Spegial Policg Establishment

4‘.

Central Bureau of Investigétion J

Choose the correct answer by using the codes given below :

(A) 2and3 S " (B) land4

- (©) 3and4 | . ) @)ﬂLSandey

- sl varlisafld uenflyfGeunflen gaipran pLios, cgﬁ;,m orpm_Lib @&z, sanped, old Boe

Gumenn L geupTer QEUGSEREETE GBS ATETRSD  SPSSIL_THS DULSDST

FHUBSSLeTeTEI?

L OB LearTe] SlenD (erarruid)

Geord Lmed

. !Q

3. Aoy sreuch glen

4. wiflue arap geop

ECyp Qar@asiiulRerer @goluiG sl mbg sflwurer el sows CoTbAsMH.
(&)  2wpmo 3 5 .. B lopgb4

C) 3Jwpmb4 (D) 1,3 wpmpb 4
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199. Which one of the following action amounts to violence against women?
L Physical assault ) -
II. Creating hostile atmosphere at work/home
III. Teasing
IV. - Making humiliating/displeasing remark

(A) TIandII only (B) I, II and III only
¢f). 1,11 and IV only " (D) II I and IV only _
&@é;a;é&m_ erhs QFwe weafleny GemnSgusHE Fr_rang? ,

I o Lo fElwns gyenmissieug

II. venflyfluyn @)L s/ afiige nguunm@gmm qmu@g,@@ug

III. Gaedl @&u.:sug,;

IV. siauwraudsgieug/@Qlleurs Cuseaug

(A)  Tuopgw I w GHibd - (B) I II wpmw I wi_ G
(© 1,11 whgid IV wr @i - D) I I wpmb IV wr @i

200. Which one of the following is/are wrongly matched?

(a) 21 Feb. 1947 1. Submission of the report by the Drafting
Committee to the Constituent Assembly
_(b) . 150ct. 1949 - 24 Acceptance of the proposal - of " the
. : Drafting Committee :
(©) 26 Nov. 1950 e 3.  Members of the Constituent Assembly
; : appended their signature )
(d) 24tk Jan. 1950 g 4..  The Constitution was adopted
(A} Both (a) and (¢) are wrong = - (B) Both (a) and (d) are wrong -
(&) Both (b) and (c) are wrong - {]25] Both (c) and (d) are wrong
SpssanL eTeneu] eTaneuseT sfluns EenemdasliLLefldeman?
(a) 21, Qiigeud 1947 1. orflueenwoii]  Blienus @@aﬂl_tb - of&ens
) - . FoMAGEEILLL g
(b) 15, &&sCLmui 1949 2. 2flsms swunflss @epeden a;@g,g;asa;m THMIE
’ QamrameTliLLmiT '
"(¢) 26, peubuir 1950 3. sirfwemnly Hirarmus Gupeder agunﬁ]mna&a‘:
' 2ifisansuier ensGwi (s Lmr ;
(d) 24, geeufl 1950 . T4 SiFflu@eamtiy SlpaliLL.L gl
(A)  (2) wpgid (c) pesm B) (2a) wppd (d) seum
© . () wipid> () geip D) (©) whpid (@) s
O ‘ 7 . . ’ GS17
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